=
=7ts/=d




WSYT LA ME 2E 33 7|5 0
(DIE{72 LIAD

H| |[SC| [ 060 |05

(of)
ERI
g 0
4 9 05 | 5
10 | 10
20 | 20
30 | 30
o)
A —=1 d
050 | M5
060 | M6
BH EELIA B
BHA elualz Al exg oa| (] ==

re (w8
FC SELAA S -

d

rsc aoese | (=
—==ao— — |5
| TEEA | PM | PETIV I
— IS —
WM LA} |"E
71z 8 &
- Tam 1 JIS 2E
s27g n @ 1 SD | TAE @= de| [T
= = Mam =E 1
5| 8 A SP (= MEH lm
| 8
F=n | EE
L SR | (2Rg MEh %:TL .
71z 8 4
= = =
il c @ ss @ue ve)|
=
=
s & A= 0
A | BRI+ (FREAE)
BN -~ HBH | HFC | HSC | HS:
M2 [04 | — | — | 15 | 09
M2.5 | 0.45 - - 2.0 1.3

M3 0.5 20 | 20 | 25 | 15
M4 0.7 25 | 25 | 3.0 | 20
M5 0.8 3.0 | 3.0 | 40 | 25
M6 1.0 40 | 40 | 50 | 3.0
M8 125 | 50 | 50 | 6.0 | 4.0
M10 | 1.5 6.0 | 6.0 | 80 | 50

P002



#lx 37 — R EE LAx
EEEETE
5| axsE 2t x| —L| =Lax |]
72| B
2t a3l
HKY| Sz aix 515
20 | 2.0 — T TR @?E"
E33%
LSS A 25 | 25
] 30 | 3.0 F . H__
TIP |23z ax = SIS A% —
B A B 35 | 35 Fg| =78 A Nyl
GWY|GW HIO|EE 40 | 4.0
50 | 5.0 — W | =S x| % \F’
RKY| FMAXZ 60 160
EJBIR| - D =20l H
NKY| =2 &8 75| B |=atolH Atol= DS
06 | 1.7 T6
08 | 2.3 T8 ' s 2 x| — =
10 | 2.7 T10
15 | 3.3 T15
B 20 | 3.8 T20 —s| 2ax O
25 | 4.4 T25
27 | 5.0 T27
30 | 55 T30

EIJE2A BX

712 | B |E=2l0IH AlO|=

. | 06 | 18 6IP
Y [o7 [ 24 7IP
H 08 | 24 8IP
10 [ 2.8 10IP
15 | 3.4 15IP
=]
=
IMX| [10|-|WR
Bz 37| Bixl HA  WR
715] B
10| 8 %
RS 12 10
16 | 13
IMX | IMXAIZIZ 25 s |[20]16
25 20

P003



IR

P004

ﬁ
S¥z= LA} 7
_ X|== (mm) 2= ey =3 ~
4 = o =
=P 4 a o o q o g | Mz |vm) s &d
AJS3010T10| 5.0 |[M3x0.5/10.0| 1.5 | 2.8 |120|T10|2.5 | sxzc(©C031), AJX(©L230), PMC(DL326)
AJS4012T15| 7.0 |M4x0.7|12.0| 2.2 | 3.4 [120|T15|3.5|AIX(©L230), PMC(OL326)
> ~| HT—1 = AJS5014T25| 8.0 |M5x0.8/14.0| 2.7 | 4.5 |120|T25/7.5 | AJX(©L230)
e d c
CS3(C32 LIAL)| 7.0 |M4x0.7|14.6| 2.6 | 25 | — | — |2.2|FCTU1/2(©E034)
o |-°J CS4(C42 LIA)| 9.0 |M5%0.8/15.4| 3.4 | 3.0 | — | — [3.3|FCTU1/2(©E034)
|d | O] LAt =2}
HNEXME uct
CS200T 3.2 |M2x0.4| 5.0| 1.6 | 1.8 | 90|T6 |0.6|FSTU1/2(©E033), SBR(OM017)
CS250T 3.7 [M25x045| 6.0| 1.8 | 2.4 | 90|T8 |1.0|FSTU1/2(©E033), FAIVSP(OMO13), SBR(OMO17)
o | o [0 a # C8250560T 3.9 |M25x045| 52| 25| 2.4 | 60/T8 |1.0|BRP(©L274)
® = CS300890T 4.1 |M3x0.5| 8.0| 2.1 | 2.4 | 90(T8 |1.0|FsTut/2(©E033), DCCCR(OL281), STFP(OMO11)
A # CS350760T 5.5 [M3.5x06| 7.0| 4.0 | 3.4 | 60|T15 3.5|BRP(©L274)
¢ # C8350860T 5.5 |M35x0.6) 8.4| 4.0 | 3.4 | 60/T15|3.5|BRP(®L274), MMTI(©G032)
CS350990T 4.8 |M3.5x0.6| 9.0| 2.4 | 2.8 | 90|T10|2.5|GY(©F017), OCTACUT(®L258), DCCCR(OL281)
CS401160T 5.7 |M4x0.7/11.0| 4.5 | 3.4 | 60/T15|3.5|VOX400(©L112)
CS451190T 6.3 |M45x0.75/ 11.0 | 2.9 | 3.9 | 90|T20|5.0|SDJE, SDNE(©C032)
CS501290T 7.0 |M5x0.8/11.0| 3.5 | 4.5 | 90/T25|7.5|0CTACUT(®L258)
# CS5015060T 7.2 |[M5x0.8/15.0| 2.4 | 3.9 | 60|T20/5.0| AHX640S(©L072)
DC0520T 8.5 |M5x0.8/22.5| 2.5 | 3.4 | — |T15/3.5|DCLN(©C008), A TFN(©E022)
DC0621T 10.5 |M6x%1.0{25.0| 4.0 | 3.9 | — |T20|5.0 [ DCLN(©C008), A CLN(©E021)
FC400890T 5.6 |[M4x0.7| 75| 1.3 | 2.8 | 90 |T10|2.5|STGE(©C033), STFE(©C033, E051), SMG(F138)
o
GY05016S 8.7 |[M5x0.8/16.0| 3.5 | 3.9 [ 90 |T20|5.0 | GYAR/L20, GYAR/L25(©F087)
2
GY06013M 12.0 |M6x1.0/18.0| 5.0 | 5.6 | — |T30|6.0|GYHR/L(©F023), GYDR/L(©F087)
“‘l
c
— KS1 7.0 |[M4x0.7/14.0| 50 | — | — | — | — | PTFNR/L(©M007), CSKPR(©M009)
© G j KS2 10.0 |[M6%1.0/18.0| 7.0 | — | — | — | — [PTFNR/L(©M007), CSKPR(©MO009)
- KS1S 7.0 |M4x0.7/14.0| 50| — | — | — | — [sBR(®M017)
d KS2S 10.0 |M6x1.018.0|7.0 | — | — | — | — |sBR(®OMO17)




Xl (mm)

s

- c _
B4t 72 D I B e I e o &
HBH06012 10.5 |M6x1.0/15.3| 3.3/4.0| — | — | 7.0/ PMF(©L328)
HBH06020 | 10.5 |M6x1.0/23.3| 3.3| 4.0 | — | — | 7.0| MGH(©F136), MTH(©G028)
HBH08025 | 14.0 |M8x1.25(29.4| 4.4|5.0 | — | — | 9.0[PTFN(©M007), CSKP(OM009), STGP(OMO11)
HBH08030 | 14.0 |M8x1.25(34.4| 4.4|5.0 | — | — | 9.0| PTFN, PCLN(®M007)
HBH08040 | 14.0 |M8x1.2548.4| 44|50 | — | — | 9.0|FF3000(©L098)
CAIBEQIS EX)D SUS YA MIE
ol Z&teElo] A&
HFC03006 6.0 M3x0.5| 80| 17|20 | — | — | 2.5/MMTI(®G032)
HFC03008 6.0 |[M3x0.5| 85| 1.7 20| — | — | 2.5|MMTE(®G023)
= N o HFC04008 8.0 |M4x0.7/13.0| 23|25 | — | — | 3.0|MMTI(®G032)
' HFC04010 8.0 |M4x0.7/16.0| 23|25 | — | — | 3.0|MMTE(©G023)
[
HSC02006 3.8 |M2x0.4| 8.0| 2.0/ 15| — | — | 1.4|FA0, Fvo(©M013)
HSC02506 45 |M25x045] 85| 25|20 | — | — | 2.2|FA1, FV1(©M013)
NL—' e HSC03010 | 55 |M3x0.5/13.0| 3.0| 25| — | — | 3.3|FA2, Fv2(©M013)
HSC04012 7.0 |[M4x0.7|16.0| 4.0| 3.0 | — | — | 6.0/FA3, Fv3(©M013)
e d | c HSC05012 8.5 |M5x0.8/17.0| 5.0 4.0 [ — | — | 9.0|SBH(®E032, G038, F143)
HSC05016 8.5 |M5%0.8/21.0| 5.0| 4.0 | — | — | 9.0|FA4, Fv4(©M013)
HSC06020 | 10.0 |M6x1.0/16.0| 6.0| 5.0 | — | — |13.0|PTFN(®M007), STFP(©MO011)
HSS04004 (M4x0.7] — 40| — | 20| — | — | 1.6|RBH(®E026, G039, F142)
1E== HSS04006 (M4x0.7] — 6.0 — | 20| — | — | 1.6/|RBH(©®E026, G039, F142)
M HSS04008 [M4x07| — | 80| — | 20| — | — | 1.6|RBH(®E026, G039, F142)
e c LLR1 M5x0.8] — 35| — | 25| — | — | — |PTFN, PTGN, PSKN(©M007)
- LLR2 M6x1.0, — 50| — |3.0| — | — | — |PTFN, PSKN, PCLN(®M007)
CAIBHEQIS EFE)D SUs HNO| MIE
0| Z&=0] RAELIC
HSP05008C (M5x0.8] 8.0 | — — | 25| — | — | 2.5/PVIN(©C019), DPVP(©E050)
s 80°
b
HY-A1 4.4 |M3x0.5/ 70| 2.1]/2.0|82| — | 1.5/Fa1(©M013)
HY-V1 5.5 |M3x0.5| 7.0| 25|20 (82| — | 1.5/Fv1(©M013)
I = |HY2 55 |M3x0.510.0| 25|20 [82| — | 1.5/FA2, Fv2(©M013)
HY3 7.0 |M35x06(12.0| 2.9| 2.0 |82 | — | 1.5|FA3, FV3(®M013)
c HY4 9.3 |M5x0.8/16.0| 3.6| 3.0 | 82| — | 3.3|FA4, FV4(®M013)
¥ LLCS103 |M3x0.5| 4.0 |11.0| 46|20 | — | — | 1.5/FAPN, FVPN(©M013)
o TS| | *LLCS105 |M5x0.8M5x0.8/10.0| 1.5| 2.0 | — | — | 1.5|PSBN(®C012), A CLN(®E044)
. P LLCS106 |M6x1.0, 6.0 [16.5| 3.5| 25| — | — | 2.2|PCLN(©C008), A} 3-PTFN(©E043)
- c #* LLCS106S|M6x1.0 6.0 |13.4| 0.7| 25| — | — | 2.2| PSKN, PCLN, PSYN(®M007)
LLCS108 [M8x125 8.0 [21.0| 6.5|3.0| — | — | 3.3/ PCLN(©C008), DPTF(OE048)
of HHH-— s |*LLCS108S|M8x1.25| 8.0 [16.5| 2.0|3.0 | — | — | 3.3| ACK33-PSKN(©E043), PTFN(OM007)
LLCS125 [M5x0.8{M5x0.8/12.0| 2.0|20 | — | — . -PDUN(©E044)
e -9 LLCS205 |M5x0.8)M5x0.8/16.0| 4.0| 2.0 | — | — | 1.5|PRGC, PRDC(©C025)
5 LLCS206 [M6x1.0, 6.0 [26.0[13.0| 25| — | — | 2.2|PTGN(©CO016), PTFN(©C017)
LLc1os, Lros20s LLCS306 |M6x1.0] 6.0 |21.0| 40|25 | — | — | 2.2|PRec, PRDC(©C025)
LLCS310 |M10x1.0/ 10.0 [29.0| 8.0| 4.0 | — | — | 7.0|PCLN(©C008), PSBN(©C012), PSSN(©C013)
SEAS aE0 22T0| gaLch LLCS508 [M8x1.0, 8.0 [24.0| 6.5|3.0 | — | — | 3.3|PCLN(©C008), PSBN(©C012), PSSN(OCO13)
*EAE bRE0 SZTFHO| &L

{4

P005



IR

P006

ﬁ
Suz LA 7
_ X|== (mm) 2= ca E3 _
4 = o =
=e ™ a b c d | e [6° [ME|Nm) oS &
§ =< LS3 M8x1.0| 32.0 |13.0[13.0| 4.0 | — | — | 8.2|FF3000(©L098)
%‘rj gll_ #*LS10 M7x0.75| 16.0 6.0 6.0/ 40| — | — | 8.2/FE404(©L339)
= 1= #LS14 M7x0.75| 24.0 |10.0(10.0| 4.0 | — | — | 7.8|FP490(®L335), FP590(©L337)
© S0 [InE ° LS25 M8x1.0, 28.5 [12.0(10.5| 4.0 | — | — | 7.8| MCLN(©C009), MSBN(©CO012), MSSN(©C014)
e c d
b
#EAE PUAE S27HE0| 1SS LIEHLICH
LS10T M7x0.75| 14.0 6.0 5.0| 4.5 | — |T25| 8.0/NF10000(©L097)
o B NI © LS15T M7x0.75| 18.0 7.0| 70| 45| — |T25 8.0| A0X445(©L088)
.= L 1 LS0622T |[M6x0.75| 22.0 | 8.0| 8.0| 3.4 | — |T15| 6.0| AHX640W(DL081), WSF406W(©L084)
l.e | __I'f_ c d __I'f_
r b
% oF
NS251 3.6 |M25x045 7.0| — | 22|60 | — | 0.7|BTVH(®D016), CSVH(©D027)
NS401 5.8 |M4x0.7| 6.0 — | 3.6 |60 | — | 3.5|CTAH-S(©D020)
NS402W 5.85 |M4x0.7|/10.0 | — | 2.2 |60 | — | 0.7|BTAH(©D014), CTAH(©D020), CTBH(©D022)
NS403W 5.85 |M4x0.7|12.0 | — | 2.2 |60 | — | 0.7|BTAH(©D014), CTAH(©D020), CTBH(®D022)
NS404W 5.80 [IM4x0.7/10.0| — |2.2[90| — | 0.7| GTAH, GTBH, GTCH(©D018)
RS3008T 4.3 |M3x0.35) 8.6| 2.0|24 |61 |T8 | 1.5/SRF(©L300), SUF(©L304)
RS3510T 5.0 |M35x0.35/10.0 | 2.3| 2.8 | 61 [T10| 2.5| SRF(©L300), SUF(©L304)
RS4015T 6.0 |M4x0.5/14.0| 2.7| 3.4 | 61 [T15| 3.3| SRF(©L300), SUF(©L304)
RS5020T 8.1 |M5x0.5/16.4 | 3.6| 3.9 | 61 [T20| 5.0/ SRF(©L300), SUF(©L304)
RS6025T 9.5 |M6x0.75/21.5| 4.2| 4.5 |61 [T25| 7.5|SRF(©L300), SUF(©L304)
RS8030T | 12.0 |M8x0.75/25.0 | 5.0| 5.6 | 61 [T30/10.0| SRF(©L300), SUF(©L304)
S1 3.5 |M2x0.4| 55| 2211592 | — | 0.6/FA0, FVo(®©M013)
SD32 12.0 |M8x1.25/28.0| 7.2|6.0 [50 | — | 9.5|DPVP(©E050)
(E Co SD40 12.0 |M8x1.25/36.0 | 7.2| 6.0 |50 | — | 9.5|DPVP(©E050)
| | ° :::L'/l 3 | |E
e .
T SETS51 6.8 |M5x0.8/14.8| 1.5| 3.4 | — |T15| 3.5|MMTE(©G023), MMTI(©G032)
o = . SETS61 8.0 |M6x1.0{20.0| 1.8| 3.9 | — [T20| 5.0/ MMTE(©G023), MMTI(©G032)
1 N
e d|
c
SLCS105 | 10.0 |[M5x0.8/25.0 | 6.3|4.0 |90 | — | 7.0/ MTIN(©C017), AC3 3MWLN(OE047)
‘ SLCS106 | 12.0 |M6x1.0{32.0| 6.2| 4.0 |90 | — | 7.0/ MTIN(©CO017), MTEN, MTQN(©C018)
I —
e c




Xl (mm)

~ cEo| = o =

g4t 72 : e B v B s i e tg &
TPS20 2.70 |M2x0.4| 3.5| 1.3 |1.80(| 60| 6IP| 0.5 |ARX(©L270)
TPS20-1 2.65 |M2x0.4| 4.7 |2.4 |1.80| 60 | 6IP| 0.6 [ MVX(©N160)
TPS22 3.00 |[M2.2x045| 4.7 | 1.6 |2.10| 60| 7IP| 0.5 | ARX(©L270)
TPS22S 3.00 [M2.2x045| 4.2 | 1.6 |2.10| 60 | 7IP| 0.5 | ARX(©L270)
TPS25 3.30 [M25x045| 5.5| 1.7 [2.10| 60 | 7IP| 1.0 | APX3000(©L137), APX3K(©L142), MVX(ON160)
TPS25-1 3.30 |M25x045| 6.5 | 1.7 |2.10| 60 | 7IP| 1.0 [ APX3000(©L137), APX3K(©L142)
TPS27F1 3.70 |M2.7x0.35| 6.5| 1.8 |2.10| 60| 7IP| 1.0 [ vPx200(©L157, L159)
TPS27F2 3.70 |M2.7x0.35| 8.0 | 1.8 |2.10| 60 | 7IP| 1.0 [ vPx200(©L157, L159)
TPS3 3.90 |[M3x0.5| 6.7 | 2.0 |2.82| 60 [10IP| 2.0 |[MVX(©N161)
TPS3R 4.60 |M3x0.5| 8.5| 1.9 |2.82| 60 [10IP| 2.0 | WJX09(©L243)
TPS3SB 4.40 |M3x0.5| 8.0 (2.0 |2.70| 80 10IP| 3.0 | AXD4000A(©L203)
TPS35 5.30 |M3.5x0.6|11.5 | 2.8 | 3.40 | 60 |15IP| 3.5 |AsX445(©L056), AsX400(L116), PMR(©L330)
TPS351 4.80 |M35x0.6| 7.2 | 2.4 |2.82]|60 |10IP| 2.5 [MVX(©N161)
TPS351B 5.10 |M3.5x0.6| 7.2 | 2.3 |2.82| 60 |10IP| 2.5 | ARP(©L265)
TPS4 5.30 [M4x0.7| 8.0 | 2.6 |3.40| 60 [15IP| 3.5 | APX4000(©L146), ARP(OL265), MVX(ON162)
TPS40F1 5.30 |M4x0.5/10.5 | 2.8 | 3.40 | 60 |15IP| 3.0 [ vPX300(©L163)
TPS43 5.30 |[M4x0.7/10.0 | 2.6 | 3.40| 60 [15IP| 4.0 | APX4000(©L146), APX4K(©L152), MVX(ON163)
TPS4R 6.40 |M4x0.7/10.6 | 2.9 | 3.40 [ 60 |15IP| 3.5 [ wsX445(©L040)
TPS54 6.80 |M5x0.8/12.0 | 3.2 | 4.50 | 60 |25IP| 7.5 [ MVX(©N164)

{4

P007



I
O

&7

Y= LA 74

g !

] x| (mm) ZE e =3 =
a B! a b c d e o A}<}J||5H ) e =g
#*TS16 2.5 [M16x0.35 3.2 1.6 | 1.8 |60 |T6 | 0.6|C 3 3SCLC(©E024)
TS2 2.7 |M2x0.4| 46|14 | 1.8 |60 [T6 | 0.6|FSWU(DE016), CI 1 SWUB(OE024)
TS202 2.7 |M2x0.4| 55|1.8 | 1.8 |60 |T6 | 0.6|SVLP(©D012), FSVU(OE018), FSVJ(OE020)
#* TS2A 2.7 |M2x0.4| 45|12 | 1.8 |60 [T6 | 0.6|AQX(©L220)
TS2C 2.7 |M2x0.4| 38| 1.4 | 1.8 |60 |T6 | 0.6]|CCSWUB(©OE24), CLi X 3STUC(OEN25)
*TS2D 3.8 |M2x0.4| 53|19 | 1.8 |82 [T6 | 0.6|FSTUP(®E010)
TS21 27 |M2x0.4| 3.4|14 |18 [60|T6 CHOSCLC(©E024), FSWL(©E035)
% TS22 3.0 [M2.2x045 5.0[1.2| 1.8 (60 |T6 | O. STFC(©E036)
*TS25 3.3 |M25x045| 55| 1.7 | 2.4 |60 [T8 | 1.0|SCLC(©C023), FSDUC(OEN12), FSL(OF144)
Y TS25D 4.4 |M25%045| 6.2 |22 | 2.4 [82|T8 | 1.0/ FSTUP(©E010)
#* TS25H 3.6 |M25x045 55|20 | 2.4 |60 T8 | 1.0/ SRM2(©L308)
TS253 3.3 |M25x045| 4.5| 1.7 | 2.4 |60 |T8 | 1.0(FSCL(©E008), FSWU(©E016)
ol © - o TS254 3.3 |M25x045] 7.0 | 1.7 | 2.4 | 60 [T8 | 1.0|SCAC(©D010), SDJC(©DO11), SH(©D026)
% TS255 3.5 |M25x045 7.5|1.6 | 2.4 |60 (T8 | 1.0|sxzC(©C031), SVLP, SVJB(©D012)
e d TS3 3.9 |M3x0.5| 6.0 (2.0 | 2.4 |60 |T8 | 1.0|SRGC(OC026), STGC(OC028), TSMP(©L320)
< TS304 3.9 |M3x0.5/10.5|20 | 2.4 |60 |T8 | 1.5|vAsS300(©L132)
TS3D 5.0 |M3x0.5| 6.0 |23 | 2.8 |82|T10| 2.5|FSCLC, FSCLP(©E008)
* TS3SB 4.4 |M3x0.5| 8.0|2.0 |24 |80 |T8 | 1.5/|AXD4000(©L194)
TS3SBS 4.4 |M3x0.5| 6.5|2.0| 24 |80 |T8 | 1.5|AXD4000(©L194)
*TS31D 4.8 |M3x0.5| 7.2| 2.2 | 2.8 |82|T10| 2.5|FSTUP(©E010)
» % TS32 3.9 |M3x0.5| 75|20 | 2.4 |60 T8 | 2.0|svJc(©D013), FSL(OF144), SRM2(OL308)
N #TS33 3.9 |M3x0.5| 6.7 |20 | 2.4 |60 T8 | 1.5|AQx(©L220), AJX(©L230), PMC(DL326)
> m a #* TS35D 5.3 |M35x0.6/12.0 | 2.8 | 3.4 | 60 |T15| 3.5/FSVU(©E018), H63TH-SVPB(©H013)
HE2s TS35R 5.7 |M35x0.6/10.0 | 2.1 | 3.4 | — |[T15| 3.5|AHX440S(©L062), AHX475S(©L068)
e d TS351 4.8 |M35x06| 7.2| 24 | 2.8 |60 |T10| 2.5|AIX(©L230), PMC(©L326)
€ TS352 4.8 |M35x0.6/10.0 | 3.0 | 2.8 |60 |T10| 2.5|VFX5(©L293)
TS4 54 |M4x0.7| 8.0 |26 | 3.4 |60 [T15 3.5|FSWU(©E016), FSWL(©E035)
¥ TS406 54 |M4x0.7/15.5| 2.6 | 3.4 | 60 |T15| 3.5|VAS400(©L132)
TS407 54 |M4x0.7| 9.0 | 2.6 | 3.4 | 60 [T15| 3.5|GYH(®F023), GYDRIL(OF087), AQX(OL220)
TS4D 5.6 |M4x0.7| 7.7 |25 | 3.4 | 82 |T15| 3.5|FSCL(©E008), FSTUP(®E010)
. TS43 5.4 |M4x0.7/10.0 | 2.6 | 3.4 | 60 |T15| 3.5[sCLC(©C023), AJX(©L230), BRP(OL275)
c TS44 54 |M4x0.7/12.0 | 2.6 | 3.4 | 60 |T15| 3.5[svJc(©C029), SVPC(©C030)
TS450 5.9 |M45x0.75/13.0 | 3.6 | 3.9 | 60 [T20| 5.0| VFx6(©L297)
* TS4SB 5.8 |M4x0.7| 9.0 | 2.7 | 3.4 | 80 [T15| 3.5|AXD7000(©L208)
* TS4SBL 5.8 |M4x0.7/10.5 | 2.7 | 3.4 | 80 [T15| 3.5|GYS(®F017), AXD7000(©L208)
# TS4SL 54 |M4x0.7| 8.0 |24 | 3.4 |80 [T15| 4.0|BXD4000(©L216)
TS5 6.8 |M5x0.8| 9.0 | 3.2 | 4.5 | 60 [T25| 7.5|SCLC(©C023), SIC % :SDUC(OE037)
TS5R 6.9 |M5x0.8/12.0 | 3.5 | 3.9 | 60 [T20| 5.0| Wwx400(©L101), WIX(©L251)
TS52 6.8 |M5x0.8| 8.0 |3.2 | 4.5 |60 |T25 7.5(CESP(©L318)
TS53 6.8 |M5x0.8/16.0 | 3.2 | 4.5 | 60 |T25| 7.5|VAS500(©L132)
TS54 6.8 |M5x0.8/12.0 | 3.2 | 4.5 | 60 |T25| 7.5[AJX(©L230), BRP(©L275)
TS55 6.8 |M5x0.8{10.5| 3.2 | 4.5 | 60 [T25| 7.5|GYH(©F023), GYD(©F087), AQX(©L220)
= #* TS6S 8.5 |M6x1.0{13.0 | 4.4 | 5.6 | 60 [T30[10.0| AQX(©L220), SRM2(©L316)
= # TS6 8.5 |M6x1.0{16.0 | 4.4 | 5.6 | 60 [T30[10.0| SRM2(©L316)
TSS04005 — |M4x0.7| 50| — | 24 | — [T8 | — |PMF(©L328)
o el TSS04505S | — |M45x0.7| 50| — | 3.5 | — |T10| 3.5|FMAX(©L089)
== TSS05006 — |M5x0.8| 6.0 — | 2.8 | — |T10| — [CSKP(®©MO009), STFP(©MO11)
_e_| c TSS06010 — |M6%1.0/10.0| — | 3.9 [ — |T20] — [CSKP(©M009), STFP(©M011)
TSS06012 — |M6%x1.0{12.0| — | 3.9 | — [T20| — |STGP, STTP(©MO011)
N WCS503507H| 6.3 |[M5x0.5| 7.0| 3.3 | 3.5 | — | — | 5.0/ ASX445(©L056), ASX400(©L116), PMR(©L330)

P008



g

0>

A= (mm) A= ooy =3
a b c d e @° | MIIE | (N-m)

4

WS304517T| 45 |M3x0.5/16.5(3.4 |2.8 |60 T10| 3.5|TAW(©N151

WS304518T| 4.5 |M3x0.5/17.5[3.4 |2.8 |60 |T10| 3.5/ TAW(©N151
WS355520T | 5.5 |M3.5x0.6(19.5(3.9 |3.4 |60 |T15| 5.5/ TAW(©N152)
WS355521T | 5.5 |M35x0.6/20.5|3.9 |3.4 [60 T15| 5.5| TAW(©N152)

WS406023T| 6.0 |M4x0.7/22.0 4.4 |4.5 |60 |T25| 8.5|TAW
WS406024T | 6.0 |M4x0.7/23.0 (4.4 |4.5 |60 T25| 8.5|TAW(©N153, N159)
WS508026T| 8.0 |M5x0.8/25.0 5.2 |5.1 |60 |T27|12.0| TAW(©N154)
WS508027T| 8.0 |M5x0.8/26.0|5.2 |5.1 | 60 |T27|12.0| TAW(©N154)

WS203107TPS | 3.1 |M2x0.25| 7.3 |1.70|1.80| 60 | 6IP| 1.0[ STAW(©N150)
WS203108TPS | 3.1 |M2x0.25| 8.3 {1.90|1.80| 60 | 6IP| 1.0| STAW(®N150)
WS253909TPS | 3.9 |M25x0.35| 9.5|2.40|2.40| 60 | 8IP| 2.0/ STAW(©N150)
WS304912TPS | 4.9 |M3x0.35/12.0 |3.25|2.82 60 [10IP| 2.5(STAW(©N150)

{4

P009



IR

P010

Xl (mm)

2=

= = =
wt a b c d e |6° nglii (ﬁfnl) tE &
BOES101 15.0 M10x1.5/ 45.0/10.0| 8.0(60| — | 10.0/oCcTACUT(®L259)
HFFO08033H | 11.0 |M8x1.25| 33.0f 50| 50|90 | — 8.2 | WJX09(©L242)
HFF08043H | 11.0 |M8x1.25| 43.0 5.0| 5.0|90| — 8.2 | AXD4000(©L195), BXD(®L217)
HSC06016 |10.0 |M6x1.0| 22.0/ 6.0| 5.0 — | — | 13.0|PTFN(®©M007), STFP(©MO011)
HSC06020 |10.0 [M6x1.0| 31.0] 6.0| 5.0| — | — | 13.0|PTFN(®M007), STFP(©MO011)
#HSCO08025H | 13.0 [M8x1.25| 24.0| 8.0| 6.0| — | — | 24.0|WSX445(@L041), AHX440(DL063), VPX200(DL158)
#HSC08030H | 13.0 |[M8x1.25| 38.0 8.0| 5.0| — | — | 24.0|FMAX(©L090), APX3000(DL137), APX4000(L147)
HSC08040 |13.0 |M8x125| 48.0f 8.0| 6.0| — | — | 24.0|APX3K(®L143), VPX300(DL166), VFX5(DL293)
HSC08045 | 13.0 |[M8x1.25| 53.0/ 8.0 6.0 — | — | 24.0|VPX200(®L160)
HSC08050 | 13.0 |M8x1.25| 58.0| 8.0| 6.0 — | — | 24.0|VPX200(®L160), VPX300(DL166), VFX5(DL293)
#HSC10030H | 16.0 |[M10x1.5| 40.0/ 10.0| 6.0| — | — | 40.0|WSX445(QL041), AHX440(OL063), AHX475(DL068)
HSC10035 |[16.0 [M10x1.5| 45.0/10.0| 8.0 — | — | 44.0|WWX400(QL102), VFX5(@L293), PMR(®L330)
HSC10040 |16.0 [M10x1.5| 50.0/10.0 | 8.0| — | — | 44.0|VPX300(®L166)
© __, _|__ Ql HSC10045 | 16.0 [M10x1.5| 55.0/10.0 | 8.0 — | — | 44.0|APX3K(®L143), VPX200(©L160), VFX5(@L293)
d HSC10050 | 16.0 [M10x1.5| 60.0/10.0 | 8.0 — | — | 44.0|APX4K(®L153), VPX300(DL166)
e " ¢ HSC10055 | 16.0 |M10x1.5| 65.0(10.0| 8.0 — | — | 44.0|VFX5(®L293)
HSC10060 | 16.0 [M10x1.5| 70.0/10.0| 8.0 — | — | 44.0|VPX300(®L166)
HSC10070 | 16.0 |M10x1.5| 80.0/10.0| 8.0 — | — | 44.0|ASPX(®L288)
HSC12035 | 18.0 M12x1.75/ 47.0/12.0 [10.0 [ — | — | 80.0 | WSX445(DL041), AHX440(DL063), AHX475(DL06S)
- Fe— #HSC12035H | 18.0 [M12x1.75 47.0{ 12.0 | 10.0 | — | — | 80.0 | WSX445(QL041), AHX440(DL063). AHX475(DL068)
® e B "l HSC12045 |18.0 M12x1.75 57.0/12.0 |10.0| — | — | 80.0|VFX5(©L293), VFX6(©L297)
e Ld_| HSC12050 | 18.0 M12x1.75/ 62.0/12.0 |10.0| — | — | 80.0|VPX300(©L166)
£ HSC12060 | 18.0 M12x1.75/ 72.0/12.0 |10.0( — | — | 80.0|VPX300(©L166)
% EAl= 2HE 7o mare|LD), HSC12070 | 18.0 M12x1.75/ 82.0|12.0 | 10.0| — | — | 80.0|APX4K(®L153), VPX300(DL166), SPX4(DL284)
NBEQIS EE)T S8t HAre| BZ0| HSC16035 |24.0 |M16x2.0| 51.0/16.0 | 14.0[ — | — |150.0| OCTACUT(®L259)
EIE._FEIOi %gtll:} °== = A= HSC16040 |24.0 ([M16x2.0| 56.0/16.0 |14.0 | — | — |150.0| VFX6(®L297), PMR(®L330)
#HSC16040H | 24.0 [M16x2.0| 56.0/ 16.0 | 14.0 | — | — [150.0 | AHX475(9L068), APX3000(QL137), APX4000(@L147)
HSC16055 |24.0 |M16x2.0| 71.0/16.0 |14.0| — | — |150.0| VPX300(®L166)
HSC16065 |24.0 [M16x2.0| 81.0/16.0 |[14.0( — | — |150.0| VPX300(®L166), SPX4(DL284)
HSC16080 |24.0 [M16x2.0| 96.0/16.0 [14.0| — | — |150.0|ASPX(@L288), VFX5(@L293), VFX6(DL297)
HSC20040 |30.0 |M20x2.5| 60.0{20.0 |[17.0| — | — |320.0| VFX6(®©L297)
HSC20090 |30.0|M20x2.5{110.0{20.0 |[17.0( — | — |320.0|VFX6(®L297)
HSCX12030H | 24.0 M12x1.75 37.0f 7.0| 8.0 — | — | 40.0|FMAX(®L089)
@ {E_j =1 HSCX16035H| 30.0 | M16x2.0| 44.0, 9.0 | 12.0| — | — |100.0|FMAX(®©L091)
g HSCX16045H | 30.0 [M16x2.0| 54.0f 9.0|12.0| — | — |100.0|FMAX(®L091)
e < HSCX20035H [ 36.0 |M20x2.5| 46.0/ 11.0 | 14.0| — | — |180.0|FMAX(®©L091)
‘ T MBA16033H | 40.0 |M16x2.0| 43.0/10.0 | 14.0 | — | — [150.0 | WSX445(9L041), AHX440(DL063), AHX640(DLO71)
@ © f:: | S—— n[ MBA20040H | 50.0 [M20x2.5| 54.0{14.0 | 17.0| — | — |320.0 | WSX445(OL041), AHX440(L063). AHX475(EL068)
1] - d MBA24045H| 65.0 |M24x3.0| 59.0/ 14.0 [17.0 | — | — |520.0 | WSX445(©L041), AHX440(DL063), AHX475(©L068)
e ' [
sa 72 A () == thg &0
- a a' b c d e |INm) <=
< < |HDS08030 |M8x0.75/M8x1.2530.0| 13.5 | 11.5 | 4.0 | 8.2 | OCTACUT(®L259), BRP(DL276)
(;II- a}'_ HDS10031 |M10x1.0{M10%1.5|31.0| 14.0 | 12.0 | 5.0 | 9.0 | OCTACUT(®L259), PMF(®L328)

a




=H LA D HE 7

A= (mm) e &

& P =2
=k E b c d . f S =
HVS060519 | 5.8 M5x0.8 14.0| 2.0 | 2.0 | 2.5 |HVF(©MO002)

© - =

e d c f
Xl (mm) _
B e &k
=P, e a b c 5 i |
KSS2 6.6 M5x0.8 17.5 9.0 |FMAX(©L089)
@u =t -
d
(4
KSN3 8.6 M3x0.35 4.3 — FMAX(®L089)
© K]
C

PO11



AME 7
8y T A% (rm) tie &
a b c
CTE32TN15 9.525 3.18 -3° MMTE(®G023)
CTE32TNO5 9.525 3.18 -2° MMTE(®G023)
CTE32TP05 9.525 3.18 -1° MMTE(©G023)
CTE32TP15 9.525 3.18 0° MMTE(©G023)
a CTE32TP25 9.525 3.18 1° MMTE(®G023)
CTE32TP35 9.525 3.18 2° MMTE(®G023)
CTE32TP45 9.525 3.18 3° MMTE(®G023)
CTE43TN15 12.70 4.76 -3° MMTE(©G023)
c* CTE43TNO5 12.70 476 -2° MMTE(®G023)
CTE43TP05 12.70 476 -1° MMTE(®G023)
o] (5T CTE43TP15| 12.70 476 0° MMTE(©G023)
ool 2 (=) CTE43TP25 12.70 476 IE MMTE(©G023)
CTE43TP35 12.70 4.76 2° MMTE(®G023)
CTE43TP45 12.70 476 3° MMTE(®G023)
CTI32TN15 9.525 3.18 -3° MMTI(®G032)
CTI32TNO5 9.525 3.18 -2° MMTI(©G032)
olojL{ A (-) CTI32TPO5 9.525 3.18 -1° MMTI(©G032)
CTI32TP15 9.525 3.18 0° MMTI(©G032)
JENI==EREL CTI32TP25 9.525 3.18 1° MMTI(©G032)
c CTI32TP35 9.525 3.18 2° MMTI(©G032)
CTI32TP45 9.525 3.18 3° MMTI(©G032)
CTI43TN15 12.70 4.76 -3° MMTI(©G032)
CTI43TNO5 12.70 4.76 -2° MMTI(©G032)
a CTI43TPO05 12.70 4.76 -1° MMTI(©G032)
CTI43TP15 12.70 4.76 0° MMTI(©G032)
CTI43TP25 12.70 4.76 1° MMTI(©G032)
CTI43TP35 12.70 4.76 2° MMTI(@®G032)
CTI43TP45 12.70 4.76 3° MMTI(©G032)
s 72 A% (mm) te &
a b c d e f
38V - DCSVN32 9.52 3.18 | 0.8 1.2 — — | DVIN(@C019), DVVN(®C020), DVPN(©C021)
,)1,
d/a B b
LLSCN3T3| 9.52 3.97 0.4 0.4 0.8 0.8 |[PCLN, DCLN(©C008)
LN ,© % | LLSCN33 952 | 476 | 04 0.4 0.8 0.8 |DCLN(©C008)
LLSCN42 12.70 3.18 0.8 0.8 1.2 1.2 | PCLN, DCLN(®C008), A i -DCLN(©E021)
— 1 1 LLSCN53 | 15.87 | 4.76 1.2 1.2 1.6 1.6 |PCLN(®C008)
= LLSCNG63 | 19.05 | 4.76 1.2 1.2 1.6 1.6 |PCLN(®C008)
= 4 Te *LLSCP42 | 1270 | 318 | 08 | 08 | 1.2 | 12 & ¥-PCLN(OE044)
a b | |b]|
n al % LLSDN32 952 | 3.18 | 0.8 1.2 — — | DDJIN(©CO010), A DUN(©E044)
LLSDN42 | 12.70 3.18 0.8 1.2 — — | PDJN, DDJN(©C010), 3-DDUN(©E021)
1 1 LLSDN43 | 12.70 4.76 0.8 1.2 - — | PDJN, DDJN(®C010), PDHN(®C011)
#*LLSDP42 | 12.70 3.18 0.8 1.2 - — >-DDUN(®E021)
ad b | b
LLSRN103| 8.3 3.18 - - - — |PRGC, PRDC(©C025)
ﬂ§ LLSRN123( 9.8 3.18 — - - — | PRGC, PRDC(©C025)
\\## 1 LLSRN164| 136 | 476 | — - - — | PRGC, PRDC(©C025)
H LLSRN204| 17.3 4.76 — — - — | PRGC, PRDC(©C025)
b

P012



Xl (mm)

oy 72 g &

LLSSN33 952 | 4.76 0.8 0.8 1.2 1.2 |PSBN(©C012), PSDN(©C014)
LLSSN42 12.70 3.18 0.8 0.8 1.2 1.6 |PSBN(©C012), A -DSKN(©E022)

LLSSN53 | 1587 | 4.76 1.2 1.2 1.6 1.6 |PSBN(©C012), PSSN(©C013)
LLSSN63 19.05 | 4.76 1.2 1.2 1.6 2.0 [PSBN(©C012), PSSN(©C013)
#* LLSSP42 12.70 3.18 0.8 0.8 1.2 1.6 3-DSKN(®E022)

A=)
= e/

» LLSTN32 9.52 3.18 0.4 0.8 1.2 — | PTGN, DTGN(©C016), A_: 3 -DTFN(©E022)

) [7 | LLSTN33 952 | 476 | 04 | 08 | 1.2 — | PTGN, DTGN(®CO016), PTEFN(©C017)

LLSTN42 12.70 3.18 0.4 0.8 1.2 — | PTGN(©CO016), A ¥ PTFN(©E043)

H:[[ H:[[ LLSTN53 | 1587 | 476 | 08 | 1.2 | 1.6 — |PTeN(@©co16)

_b' T #LLSTP32 9.52 3.18 04 0.8 1.2 — 3-DTFN(©E022)
£ LLSWN32 952 | 3.18 0.4 0.8 1.2 — | PWLN, DWLN(©C022)
LLSWN3T3| 9.52 3.97 0.4 0.8 1.2 — |PWLN, DWLN(©C022)

1 E LLSWN42 12.70 3.18 0.4 0.8 1.2 — | DWLN(©C022), A3 ¥ :-DWLN(QE023)
* LLSWP32 9.52 3.18 0.4 0.8 1.2 — (A 3-DWLN(©E023)
bl |b| |xLLSWP42 | 1270 | 318 | 04 | 08 | 1.2 | — |A WLN(©E023)

MLCP42 12.58 | 3.18 1.2 1.2 1.2 1.2 |A CLN(DE044)

MLDP42 12.56 | 3.18 1.2 1.2 - —

PDUN(©E044), A

JPDQN(QE045)

MLSP42 12.63 3.18 1.2 1.2 1.2 1.2 |AZIPSKN(©E043)

T

MLTP32 9.50 3.18 1.2 1.2 1.2 —  |AZK

JPTFN(®E043)

MSCN63 18.8 4.76 1.6 1.6 1.6 1.6 |MCLN(®C009)

T

{4

MSSN63 18.8 4.76 1.6 1.6 1.6 1.6 |MSBN(©C012), MSSN(©CO014)

=3

PS42 1146 | 3.18 | 0.2 0.2 0.6 1.0 |CSKP(©M009)

P013



IR

P014

- w o
= -1
AME 73
Xl (mm)
T S &C
a b c d e f 21
PT32 8.28 | 318 | 0.2 0.2 0.6 — |FCTU(©E034)
c
(N
/(
d a b
A _ PV321 952 | 318 | 04 | 0.4 — — | PVIN(©C019). PVN(©C020), PVPN(©C021)
PV322 9.52 3.18 0.8 0.8 - — [ PVIN(©CO19), PVVN(©C020), PVPN(©C021)
Bisg PV323 9.52 3.18 1.2 1.2 — — | PVIN(©CO19), PVVN(©C020), PVPN(©C021)
ik b
_c a SPSVN32 8.06 | 3.18 | 0.3 0.3 — — | SVJC(©C029), SVPC(©C030), FSVU(OE018)
5
H
d;i. b
L STASX400N| 11.00 | 3.00 | 04 | 04 | 04 | 0.4 |ASX400(L116)
_a b
STASX445N | 10.76 3.00 — — - — | ASX445(©L056)
a il
_ STPMR4N 10.46 | 3.00 1.2 1.2 1.2 1.2 |PMR(©L330)
b
—c _ WPSTN33 9.30 | 476 | 0.8 0.4 1.2 — |MTJIN(©CO017), MTEN, MTQN(©C018)
WPSTN43 12.50 | 4.76 0.8 0.4 1.2 —  |MTJIN(©C017), MTEN, MTQN(©C018)
4 l_a b




AMeEDHE o SH=Y W 7

_ o X|== (mm) - =
& At | a b c d o oS &0
BCP141 3.0 14 5.6 - — SVJC(DC029), SVPC(DC030), FSVU(DEN18)
N a BCP201 43 2.0 7.4 = — FCTU1(®E034)
BCP202 4.3 2.0 6.4 — - FCTU1, FCTU2(©E034)
c BCP251 4.8 2.5 7.4 — — CSKP(©M009)
— CCP33 6.5 3.66 | M5x0.8| 18.5 3.0 |MTIN(DCO17), MTEN, MTQN(©CO18)
© n[ o CCP34 7.5 5.00 | M6x1.0| 185 3.0 |MTIN(®CO017), MTEN, MTQN(®C018)
— CCP44 7.5 5.00 | M5x0.8| 14.2 3.0 MWLN(®E047)
e
d
LLCL12S 2.1 9.3 5.6 - - PTGN(@C016), PTFN(©M007), FAIV(©MO013)
‘«i»‘ LLCL13 3.6 10.0 12.5 = — | PCLN(®CO008), A TEN(©E043)
LLCL13S 3.6 10.0 7.8 - — PSBN(©C012), A CLN(©E044)
LLCL14 4.7 13.4 13.2 — — PCLN(®C008), A5 }PSKN(©E043)
2 o LLCL14S 4.7 13.6 12.2 - - PSKN, PSSN, PSYN, PCLN(©M007)
LLCL23 3.6 12.0 11.5 — — PDUN(©E044)
LLCL23S 3.6 11.6 9.5 — - A PDUN(©E044)
. b | LLCL24 4.7 16.2 14.8 - - PDJN(©C010), A ¥ :PDUN(©E044)
LLCL25 6.0 171 17.0 — — PCLN(©C008), PSBN(@C012), PSSN(©C013)
-2 i LLCL110 3.0 10.7 11.6 - — |PRGC, PRDC(®C025)
LLCL112 3.5 13.0 13.5 - — PRGC, PRDC(©C025), H63TH-PRGC(OH012)
I R LLCL116 4.5 18.5 18.0 — — PRGC, PRDC(©C025)
7 LLCL120 5.6 20.3 19.0 — - PRGC, PRDC(©C025)
b
LLP13 5.55 4.85 5.3 - — PCLN(®C008), A% :-DVUN(©E023)
LLP14 7.25 6.55 5.8 — — PCLN(©C008), A{ WLN(®E023)
LLP15 8.80 8.05 8.6 — — PCLN(©C008), PSBN(©C012), PSSN(©C013)
LLP16 10.85 9.85 11.1 — — PCLN(©C008), PSBN(©C012), PSSN(©C013)
N[ a @ LLP23 5.55 4.85 6.8 — — DCLN(©C008), DDJN(©C010), PSBN(©C012)
LLP24 7.25 6.55 9.1 — — DDJN(©C010), H63TH-DDJN(®H009)
4
__ MP6 11.9 7.8 |M10x1.0| 22.1 15.0 | MCLN(©C009), MSBN(©C012), MSSN(©C014)
e
d

{4

P015



s 7
gg .T..l?d i"/l\‘ (mm) |:|'|2 §E1
- a b c d e f <
P11S 6.0 3.7 40 | 17.0 | 111 — | PVIN(©C019), PVVN(©C020), DPVP(©E050)
ol o I. H—h— o P21S 7.5 4.9 45 | 172 | 115 — | DPT4(©F146), DPT2(©G042)
e
d
S¥= 7%
= CEr A (mm) the &
a b c d e f
a d AMS3 7.0 12.0 | 3.0 3.3 - — [ sxzc(©c031), AJX09(©L230), PMC(®L326)
> AMS4 9.0 13.5 | 3.0 38 | — —  |AJX12(DL230). PMC(OL326)
a AMS5 10.0 15.0 | 3.5 5.0 — — | AJX14(©L230)
[
a =d_ CCK13 15.0 185 | 6.0 9.0 — — | MTIN(©C017), A ¥ XMWLN(©E047)
CCK14 19.0 220 | 8.0 9.5 — — | MTJIN(©CO017), MTEN, MTQN(©C018)
o A
<
a CKW6 10.9 225 | 9.2 16.8 | 5.0 |M8x1.0| MCLN(©C009), MSBN(©C012), MSSN(©C014)
b o
-
DCK2211 11.0 22.0 | 6.57 | 111 - — | DCLN(©C008), A TFN(©E022)
DCK2613 13.0 26.5 | 7.35 | 129 — — | DCLN(©CO008), A CLN(®E021)
DCK3113 13.0 31.0 | 9.0 14.5 - — | DVJN(©CO019), A3 X -DVUN(©E023)
MTK1R/L 13.0 175 | 5.0 12.0 — — | MGH(®F136), MTH, MT1(©G028)
/,
- o
a
a d SETK51 6.8 145 | 29 8.0 - —  [MMTE(©G023), MMTI(©G032)
SETK®61 8.9 18.1 | 4.1 8.6 - —  [MMTE(©®G023), MMTI(©G032)
a
=
=]
- 1€
Ho|HulA 74
4t 3 A5 (mm) the o
a b c El LAY | 230|H =
60° CBT2N 567 | 14 1.5 6.350 1.0 FCTU1, FCTU2(©E034)
9
Vb CBT3F 853 | 14 | 25 9.525 1.5 FCTU1, FCTU2(©E034)

E|EEol Z2E, EEo[AHZ0|
9| 0.5mmAE L ch.

o

P016



My
]
m
H
[

X|== (mm)

R =] e &9
a b c e
HSD04004H06 | M4x0.7 0.6 4.0 2.0 ARP(QL265), ASPX(@L288), VFX5(@L293)
= HSD04004H08 | M4x0.7 0.8 4.0 2.0 ARP(®L265), ASPX(©L288), VFX5(©L293)
° T HSDO04004H12 | M4x0.7 1.2 4.0 2.0  |ARP(©L265) ASPX(©L288), VFX5(©L293)
e c HSD04004H16 | M4x0.7 1.6 4.0 2.0 ARP(©L265), ASPX(©L288), VFX5(@L293)
AEH
At 72 KI5 (mm) R
a (o3 e
WS35LH 3.47 1.7 2.0 STAW(@N150)
= WS45LH 3.47 1.7 2.0 STAW(ON150)
M= WS55LH 3.47 1.7 2.0 STAW(ON150)
e.| c
2 utx| 5|
22F
oz T4HI|1E ‘(’g‘; e o
MK1KS 3 WWX(DL101), TAW(DN151)

P017



P018

[ ===
T=

THEF FEHSE

s THE RE

olgst ‘FHE 2

s
=

o =
T =
iz’ o
Ta T

HIO| E

CTCH, CTDH, CTEHHIO|E

AHE g

oF—
=

ool w2t gof SX(SHE)E MEYD g 2o
23 J|zho] ZotstH MZ =X 2 dolsl

S ELE]

5l

|
FAl7

&9

FLHESE AMEUE FE
==

M= 7A
FHE 7 S ﬁ
A Ato|= SUZ LA} 2l x|
1010-200 NS501W HKY25RS
CTCHRIL 1212-200 NS501W HKY25RS
1616-230 HBHO06020 HKY40R
CTDHRIL 1616-280 NS502W HKY25R
1616-350 HBHO06020 HKY40R
1616-230 HBHO06020 HKY40R
CTEHRIL 1616-280 NS502W HKY25R
1616-350 HBH06020 HKY40R
EGHIO|E
THE 7 ﬁ
B NLIES Sz LA} x|
2020K03 EGS06019 HKY30R
2525M3 EGS06019 HKY30R
EGHR 2525M4 EGS08024 HKY40R
2525M5 EGS08024 HKY40R
2525M7 EGS08024 HKY40R
2525M8 EGS08024 HKY40R
ETH}O|E
S )
- «§ &
T 4 | & | & | 2
sy N san SUD LA | AIETELA AlE PENEEES %
CBT3106
PT32T1R
2525M16 CK341 LS2 CFM02008 CBT3113 | HKY40R
PT32T2R
ETHR CBT3120
BT41
2525M22 CK341 LS2 SFCo2508 | PT42TR | ol 98 pkvaor
CBT4128




LLHIO|E

<
THE 7 @ & /'/;\\.\ ﬁ
= JUES AIE AlE DHE Sy Y ST LA} x|
1616H09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
2020K09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
2525M09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
igi:gﬁ: 2020K12 LLSCN42 LLP14 LLCL14 LLCS108 HKY30R
POBNRIL 2525M12 LLSCN42 LLP14 LLCL14 LLCS108 HKY30R
2525M16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R
3225P16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R
4040R19 LLSCN63 LLP16 LLCL16 LLCS310 HKY40R
PONNRIL 1XM15 LLSDN43 LLP14 LLCL24 LLCS308 HKY30R
2XM15 LLSDN43 LLP14 LLCL24 LLCS308 HKY30R
1010E11 — - LLCL12S LLCS105 HKY20F
1212F11 = = LLCL12S LLCS105 HKY20F
PTANR/L 1616H16 LLSTN32 LLP13 LLCL13 LLCS106 HKY25R
PTBNR/L 2020K16 LLSTN32 LLP13 LLCL13 LLCS106 HKY25R
PTTNRI/L 2525M16 LLSTN32 LLP13 LLCL13 LLCS206 HKY25R
PTGNR/L 2525M22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
PTFNR/L 3225P22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
3232P22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
4040R27 LLSTN53 LLP15 LLCL25 LLCS508 HKY30R
3225P12 LLSSN42 LLP14 LLCL14 LLCS108 HKY30R
2525M15 LLSSN53 LLP15 LLCL25 LLCS508 HKY30R
:2?:2;:: 3232P15 LLSSN53 LLP15 LLCL25 LLCS508 HKY30R
PSKNRIL 3232P19 LLSSN63 LLP16 LLCL16 LLCS310 HKY40R
4040R19 LLSSN63 LLP16 LLCL16 LLCS310 HKY40R
5050725 LLSSN84 LLP18 LLCL18 LLCS112 HKY50R
2020K10 LLSRN103 LLP13 LLCL110 LLCS205 HKY20R
2020K12 LLSRN123 LLP13 LLCL112 LLCS106 HKY25R
PRGCRIL 3225P12 LLSRN123 LLP13 LLCL112 LLCS106 HKY25R
PRDCN 3225P16 LLSRN164 LLP24 LLCL116 LLCS306 HKY25R
4040R25 LLSRN256 LLP16 LLCL125 LLCS410 HKY40R
5050732 LLSRN326 LLP18 LLCL132 LLCS112 HKY50R
MCH}O| =
= <> &
ZRE 7 ﬁ 'H”N \\\\g\\\ @ f §
e JUES AE DEE sz S LIAF | 230/HTA x| Azg
1616 CT22 BCP201 CK231 | LSt CBT2 HKY30R —
g;g:gt 2020 CT32 BCP301 CK341 | LS2 CBT3 HKY40R —
2525 CT32 BCP301 CK341 | LS3 CBT3 HKY40R -
1616 CS32 BCP251 CK232 | LSt CBS3 HKY30R —
gg;:gt 2020 Cs42 BCP301 CK341 | LS2 CBS4 HKY40R -
2525M43 CS42 BCP301 CK341 | LS3 CBS4: HKY40R -
CTAPRIL 2020 PT32 BCP201 CK341 | LS2 CBT3 HKY40R —
CSBPRIL 1616 PS31 BCP201 CK232 | LSt CBS3 HKY30R —
CSKPRIL 2020 PS42 BCP251 CK342 | LS2 CBS4: HKY40R -
CTCPRIL 2020K16 BPT322 BCP201 CCTC1 | HSC06020 | CBT3 HKY50R MES3
2525M16 BPT322 BCP201 CCTC1 | HSC06020 | CBT3 HKY50R MES3
CTGPRIL
CTRPRIL 1616 PT21 BCP141 CK231 | LSt CBT2N HKY30R —

{4

P019



P020

I
?‘ E o
MGH}O0|E
8 72 & & Ve
gu AtO|= Sz S LIAL AmEl #lx|
2020K3333 MTK1L/R HBH06020 MES3 HKY40R
2020K4447 MTK1L/R HBH06020 MES3 HKY40R
MGHRI/L 3232P5660 MTK2L/R MGS6 MES3 HKY50R
3232P5670 MTK2L/R MGS6 MES3 HKY50R
3232P5680 MTK2L/R MGS6 MES3 HKY50R
MG2E HIO|E
+18 7 V4 & Ve
o AlO|= = ST LIAL Amzl 2lx|
2525M4315 MTK1R/L HBH06020 MES3 HKY40R
MG2R/L 2525M4323 MTK1R/L HBH06020 MES3 HKY40R
2525M4333 MTK1R/L HBH06020 MES3 HKY40R
MHH}O|E
) 2 | £ | @ 2
FHE 72 LI/ g s
g AO|= AE A EDHLIAL Sz ST LIAL AsEl x|
MHS532R/L
KKCRI/L 445 MHS533R/L SFCO03010 MHK5NR/L MHT1 CES8 HKY40R
MHS534R/L
MPH}IO|E
Y o)
THE 74 e 4@ ﬁ
&
= AfOI= AE =x T AEZ x|
PVVNN
PVPNRIL 3225P16 PV32_: P11S HSP05008C EO3 HKY25R
MT2& HIO|E
+18 7 & & Ve
o AlOI= Sz S LA AmEl 2lx|
MT2R/L 2525M4 MTK1L/R HBH06020 MES3 HKY40R




SETHIO|E

R )
D) 4
A= Zl @ 4 %
S 7 G ) @ €D | & .",./
=0 NES S ST LIAL CH T | AEDELIAL AlE 2l x|
1616H16 SETK51 SETS51 CR4 HFC03008 CT32T1 IRYLeE
SETHR 2020K16 SETK51 SETS51 CR4 HFC03008 CT32T1 e
2525M16 SETK51 SETS51 CR4 HFC03008 CT32T1 RYLeE
SLHIO|E
FHE 7 & & ﬁ
N § | & $
A Ato] = AE =x HE Sz x| SUm LI 2l x|
HKY25R
33K16S SLSTN33 SLP13 SLN13 SLCW13 SLCS105 HKYA0R
HKY25R
ETINRIL 44M16S SLSTN33 SLP13 SLN13 SLCW13 SLCS105 HKYA0R
ETQNRIL 44M22S SLSTN43 SLP14 SLN14 SLCW14 | SLCS106 HKYao9R
HKY30R
54P22S SLSTN43 SLP14 SLN14 SLCW14 SLCS106 HKYA0R
ETNNRIL 64M22S SLSTN43 SLP14 SLN14 SLCW14 | SLCS106 HIKY2oR
HKY30R
85M22S SLSTN43 SLP14 SLN14 SLCW14 SLCS106 HKYA0R
SPHPO|E
7
FHE 7 & A CL
A NES Sm LA} Bl x| AE AlE D@
0808D07 TS25 TKYO8F - -
gg‘;gzt 1010E07 TS25 TKY08F - _
SDXCRIL 1212F07 TS25 TKYO08F - -
1616H11 TS43 TKY15F — —
SVJCRI 0808D11 TS25 TKYO8F - -
svdcc;:?« L 1010E11 TS25 TKYOSF - -
SVPCRIL 1212F16 TS43 TKY15F - -
3225P16 TS44 TKY15R SPSVN32 BCP141
SSBCRIL 1616H09 TS43 TKY15F - -
0808D06 TS25 TKYO08F = —
SRGCR/L 1010E06 TS25 TKYO08F — —
SRXCRIL 1212F06 TS25 TKYO8F = =
SRDCN 1010E08 TS3 TKYO8F - —
1212F08 TS3 TKYO8F = —
SRHIO|E
THE 7 @
S
A NS S LIAL 2l x|
SRSGRI/L 2525M20 TS5 TKY25F
SRSGN 3225P20 TS5 TKY25F

P021



IR

P022

I
x HIXri2xix
T A -llo -
TWPHIO|E
/o PN
FAE LY @ 4@ ﬁ
® N (2] | & | &
A Atol= AIE  |AIE DFE| SYUZ | SYUZ LA MIEEIEYE|  SULHA Azg Blx|
2020K16  |SLSTN33| CCP13 | CCK13 |SLCS105| CPT13 | WpPs1 | MEs2 | HKY3OR
MTJINRIL 2525M16  [SLSTN33| CCP13 | CCK13 |SLCS105| CPT13 | WPs1 | MEs2 | HYZOR
2525M22  [SLSTN43| CCP14 | CCK14 |SLCS106| CPT14 | WPs1 | MEs3 | HKY3OR
MTNNRIL 5032M22  |SLSTN43| CCP14 | CCK14 |SLCS106| CPT14 | wPst | MEs3 | HiRYZOR
2020K08
HKY30R
MWLNR/L 2525M08  |WPSWN43| CCP34 | CCK13 |SLCS105| CPT24 | — MES2 | [l iaoR
3225P08
WPHIO0|E
=
FAE 7Y D@ | - ﬁ
= Ny )| & | W
A AtO|= AlE  |AE D¥E| Sz | SYUZ LA MIS2IEE|  SLIAb S Bl
2020K16N  |WPSTN33| CCP33 | CCK13 |SLCS105| CPT13 | — MEs2 | HKYZOR
MTENN _ HKY25R
MTQNRIL 2525M16N  |WPSTN33| CCP33 | CCK13 |SLCS105| CPT13 mEs2 |HKY2oR
2525M22N  |WPSTN43| CCP34 | CCK14 |SLCS106| CPT14 | — MEs3 | HKY3OR
MTNNRIL 5032M22N  |WPSTN43| CCP34 | CCK14 |SLCS106| CPT14 | — MES3 |HRY3IT
2F0/5E HIOIE
R
¢ 4LF
FHE 7 A\ o S,
6( ﬂ & & /\’/
g4 Afolx AlE AE TFE Sz Ay sz LA 2l
PTGERIL 2020K16 LLSTES32 LLP13 LLCL131 LLCS106 HKY25R
PTFERIL 2525M16 LLSTE32 LLP13 LLCL131 LLCS106 HKY25R
SVVDN 1616H16 - — — FC400890T | TKY1OF
SVPDRIL 2020K16 - — — FC400890T | TKY10F
2525M16 - - - FC400890T |  TKY1OF




=

= |. ol / by |
= O/ =2 b
DGHIO|E
=Y D

FHE 7 "/ ﬁ \\@&' §

Sy il x| Sam LA} Az

DGHRI/L 1616K2G DGK2RI/L — HKY40R DGS51 MES2
DGHR/L 1616K3 DGK3RI/L — HKY40R DGS51 MES2
DGHRI/L 1616K3G DGK3RI/L — HKY40R DGS51 MES2
DGHRI/L 1616KF3 DGK3RI/L — HKY40R DGS51 MES2
DGHRI/L 2020K - HSC04014 HRY29R DGS51 MES2
DGHRI/L 2020KFS - HSC04014 O DGS51 MES2
DGHRI/L 2020KL - HSC04014 HRYSOR DGS51 MES2
DGHR/L 2020KLS — HSC04014 NS DGS51 MES2
DGHRI/L 2020KS - HSC04014 HRY29R DGS51 MES2
DGHRIL 2525M - HSC05012 HKY40R DGS51 MES2
DGHRIL 2525MC — HSC05012 HKY40R DGS51 MES2
DGHR/L 2525MCS — HSC05010 HKY40R DGS51 MES2
DGHRIL 2525MF - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525MFS - HSC05012 HKY40R DGS51 MES2
DGHRIL 2525ML - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525MLS — HSC05012 HKY40R DGS51 MES2
DGHR/L 2525MS — HSC05012 HKY40R DGS51 MES2

HSK-TZ2T (DG)

Q)
&
THE 7 S
MEE TEHLAL SUI LA Azg BlA|
H63TH-DGHRI/LS HSC05012 DGS51 MES2 HKY40R
H63TH-DGHRIL HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-H4 HSC05010 DGS51 MES2 HKY40R
H63TH-DGHN-H5 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-H6 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-L4 HSC05010 DGS51 MES2 HKY40R
H63TH-DGHN-L5 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-L6 HSC05012 DGS51 MES2 HKY40R
UG HIO|E(E2|0|= ElY) UG HIO|E(Z} ‘83)
THE 74 ﬁ THE 74 f
x| alx|
UGHN262 UGS1 UGHR/L1616H2 UGS1
UGHN263 UGSt UGHR/L1616H3 UGS1
UGHN264 UGS1 UGHR/L2020K2A UGSt
UGHN265 UGS UGHR/L2020K2 UGSt
UGHN322 UGS1 UGHR/L2020K3A UGS1
UGHN323 UGSt UGHR/L2020K3 UGS1
UGHN324 UGS1 UGHR/L2525M3 UGS1
UGHN325 UGS UGHR/L2525M4 UGSt
UGHIO|EE & E8
g 43
©
S S
TE i &
Saz ST LA Bl %] MEEZE Bl %]
KGBN26-20 KGC1 LST15T TKY25R HSC08016 HKYB0R
KGBN26-25 KGC1 LST15T TKY25R HSC08016 HKYB0R
KGBN32-20 KGC1 LST15T TKY25R HSC08016 HKYB0R
KGBN32-25 KGCH1 LST15T TKY25R HSC08016 HKYB0R

P023



IR

P024

i}

2 &

IHE 72 & Vi

sz U 2%
SO8HSTFPRO9 TS253 TKYOSF
S10KSTFPR09 TS25 TKYO8F
SCOCSTFPRA TS3 TKYO8F
SCCSTFPR16 TS4 TKY15F
'SCLPRIL08 TS3 TKYO8F
'SCLPRIL09 TS4 TKY15F
'SWLPR/L04 TS25 TKYOSF
SWLPRIL06 TS4 TKY15F
#3 WrHHED 43)

& S

RE 72 & /

sz U 27|

E08KSTFPRO09 TS253 TKYOSF
E10MSTFPRO09 TS25 TKYO8F
TS3 TKYO8F
T3 TKYO8F
TS4 TKY15F

& @ !
=P, AtO|= ANE AE DHE | S¥= Y | SY= LA | S¥= ME | 230/7Ea | a5 Bl %]
132R/L | LLSSN42 | LLP14 LLCL14 |LLCS108 - - HKY30R
DPSK 140R/L | LLSSN42 | LLP14 LLCL14 |LLCS108 — — — HKY30R
150R/L | LLSSN63 | LLP16 LLCL16 |LLCS110 - - — HKY40R
163R/L | LLSSNG3 | LLP16 LLCL16 |LLCS110 — — - HKY40R
DPTE 150R/L | LLSTN42 | LLP14 LLCL14 |LLCS108 - - - HKY30R
163R/L | LLSTN42 | LLP14 LLCL14 |LLCS108 - — - HKY30R
DPDU 132R/L | LLSDN42 | LLP14 LLCL24 |LLCS108 - - - HKY30R
DPDH 140R/L | LLSDN42 | LLP14 LLCL24 |LLCS108 — — — HKY30R
DPDZ # 150R/L | LLSDN53 | LLP15 LLCL15 |LLCS208 - - - HKY30R
DPCL 150R/L | LLSCN63 | LLP16 LLCL16 |LLCS110 - — — HKY40R
163R/L | LLSCN63 | LLP16 LLCL16 |LLCS110 - - - HKY40R
DPVP 150R/L | PV322 P11S — HSP05008C - — EO03 HKY25R
132R/L | PT32 BCP201 - - C4 CBT3N - HKY30R
DCTU 140R/L | PT42 BCP251 — - C5 CBT4F - HKY40R
150R/L | PT42 BCP251 - — C5 CBT4F — HKY40R
% DPDH150R/LEF AFO|= 140R/L2| CHE R Z0| EuU|C}.
DE HEs=(LIAIEL =X2|8)

THE 72 @ ﬁ
&
= JIES =g LA A 2l %]
DPT2 132R P21S HSP08014 EO1 HKY40R
140R P21S HSP08014 EO1 HKY40R
OPT4 132R P21S HSP08014 EO1 HKY40R
140R P21S HSP08014 EO1 HKY40R




FE 2alu}
— Vi © & | S
 \— g
E0 AtO| = AE AlE THE Sym ME EETIETTES 2l x|
116R/L - - c3 CBS3 HKY25R
FCSK 120R/L - - c3 CBS3 HKY25R
125RI/L PS42 BCP252 c4 CBS4F HKY30R
132R/L PS42 BCP251 c4 CBS4F HKY30R
216R/L - - c3 CBS3 HKY25R
FCSK 220R/L - - C3 CBS3 HKY25R
225R/L PS42 BCP252 c4 CBS4F HKY30R
FCTU 232R/L PT32 BCP201 C4 CBT3F HKY30R
F& 23 df(LALEE, EX2|8)
(© R LF
FRE 72 \\’@ § \\\\\\\\&@ @ /@
ER JNIES sz Syz ME | S LA AlE AEDTFELIAL | CcE nHE Bl x|
116R/L LK1 - HBH04012 - - - HKY25R
120R/L LK1 HBH04012 - - - HKY25R
125RI/L LK1 - HBH04012 - - - HKY25R
FCL5 132R/L LK1 - HBH04012 - - - HKY25R
216R/L LK1 - HBH04012 - - - HKY25R
220R/L LK1 - HBH04012 - - - HKY25R
225R/L LK1 - HBH04012 - - - HKY25R
M16R - C3 - - - - HKY25R
Q20R - c4 - - - - HKY30R
NTF R25R - c4 - - - - HKY30R
R216R - c3 - - - - HKY25R
S220R - c4 - - - - HKY30R
T225R - C4 - - - - HKY30R
K16R11 - - TS25 - - - TKYO8F
M16R - - CS350860T - - - TKY15F
P20R SETK51 - SETS51 CT32T1 HFC03008 CR4 e
R25R SETK51 — SETS51 CT32T1 HFC03008 CR4 RYLsE
SNTF M210R11 - - TS25 - - - TKYO8F
Q212R11 - - TS25 - - - TKYO8F
R216R — - CS350860T - - - TKY15F
S220R SETK51 - SETS51 CT32T1 HFC03008 CR4 TKY15F
T225R SETK51 — SETS51 CT32T1 HFC03008 CR4 TKY15F
120R/L3M - BC5 - - - - TKY20R
125R/L3M - BC5 - - - - TKY20R
132R/L3M - BC5 - - - - TKY20R
120R/L4M - BC5 - - - - TKY20R
FCDG4 | 1 25R/LaM - BC5 - - - - TKY20R
132R/L4M — BC5 - - - - TKY20R
125R/L5M - BC5 - - - - TKY20R
132R/L5M - BC5 — — - — TKY20R
120R/L4J - BC5 - - - - TKY20R
125R/L4J - BC5 - - - - TKY20R
FCDG4 | 132R/L4J - BC5 - - - - TKY20R
125R/L5J - BC5 - - - - TKY20R
132R/L5J — BC5 — — - — TKY20R

{4

P025



P026

= XX
s
|
x 2 B X E S I3
= T =3 O =il
M3 2ald}
VA @ & \‘@
E@ S ‘
. | L) B E S S E
ANE | AIE mmm | Sum  |NC23E0E|  Ama | 2am gar | dA =310
A25RMWLNR/L08 _ _ CCK13 | CPT24 MES2 | SLCS105 :gigg HGM-PT1/4
A32SMWLNR/LO8  |WPSWC43| CCP44 | CCK13 | CPT24 MES2 | SLCS105 :gigg HGM-PT3/8
A40TMWLNR/LO8  |WPSWC43| CCP44 | CCK13 | CPT24 MES2 | SLCS105 :gigs HGM-PT3/8
P& Halu}
. © (
@ '»'K\\ ﬁ \‘@
FHE 74 \/ @ & /,//g.‘ *&%
AIE AE 1EE =uz Ay Sz LA 2% =20
A50UPSKNR/L19 LLSSP63 LLP16 LLCL16 LLCS310 HKY40R HGM-PT3/8
A40TPCLNR/L16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R HGM-PT3/8
A50UPCLNR/L19 LLSCP63 LLP16 LLCL16 LLCS310 HKY40R HGM-PT3/8
S8 BYuEZ Ma)
& 4
FHE 7 & //
=z uAl %]
'SSKCRIL09 TS4 TKY15F
'SDUCR/L15 TS5 TKY25F
'SVUCR/L11 TS25 TKYO8F
Ts4 TKY15F
TS5 TKY25F
TS25 TKYO08F
TS4 TKY15F
TS5 TKY25F
Ts4 TKY15F
SE Halup(Z A3)
) A
FHE 72 & VA
2= LAl %]
'SSKCRI/L12 TS5 TKY25F
'SDQCRI/L15 TS5 TKY25F
'SCZCRIL06 TS25 TKYO8F
'SCZCRIL09 TS4 TKY15F
'SCZCRI/L12 TS5 TKY25F
:SDZCR11 Ts4 TKY15F
DY 22l 2 O}
\\&\\&
FHE 72 &
MEEE %]
B14550 SD50 HKYBOR
B15050 SD50 HKYSOR
B15563 SD63 HKY80R
B16363 SD63 HKY80R
B16563 SD63 HKY8OR




Sto| &0}

SIO|EOHRLUE)FEHHSE

)
ZHETY \\\\\\\\&\ f 24 oM HAY Az
oM MELIAL | SUE DELIA x|
NA1 HFC03008 HY-A1 HKY20R
NV1 HFC03008 HY-V1 HKY20R
NA2 HSC03010 HY2 HRY2oR
NV2 HSC03010 HY2 Hikvssr | MENE 8X0|0z £2E2 oEogz Bojsix gav
NA3 HSC04010 HY3 HIKY20R REDE0 T2t ARE YAl £ Hotof FUA
NV3 HSC04010 HY3 HRY30R
NA4 HSC05012 HY4 ARY3oR
NV4 HSC05012 HY4 HIY30R

sto|2o}(FIEE|X|) B

THETA

EHESE

>

)

/24

®

GrEalx| 72) & —
Syz Syz LA NE AE THE ZHE AU ey
NASP11 - CS250T - - HR12 TKYOSF
NVSP11 - CS250T - - HR12 TKYO8F
NASP21 - CS300890T — - HR12 TKYO8F
NVSP21 - CS300890T - - HR12 TKYOSF
NAPN21 LLCL12S LLCS103 - - HR12 HKY20F
NVPN21 LLCL12S LLCS103 — - HR12 HKY20F
NASP31 - CS300890T _ _ HR34 TKYOSF
NVSP31 - CS300890T - - HR34 TKYOSF
NAPN31 LLCL12S LLCS103 - - HR34 HKY20F
NVPN31 LLCL12S LLCS103 - - HR34 HKY20F
NAPN41 LLCL13 LLCS106 LLSTN32 LLP13 HR34 HKY25F
NVPN41 LLCL13 LLCS106 LLSTN32 LLP13 HR34 HKY25F

{4

P027



IR

P028

[ ===
T=

FHE &

XI
=

o ——
S =

7l E 2| X|

MK 7tE2|X| {7 El=

09k

gy | Dos ﬁ £ Q &\\@ & § f
f;g\ oT CBS CBT q \‘\%\
KITRIL | 33 [CS42 [BCP301| CBS4 | CBSAN | CBSAF | CK341 LS2 | HSS08012 | KS2 | KS14 | HKY30R/40R/50R
K14R/L | 44 |CS62 |BCP401| CBS6 |CBSBN|CBS6F| CK342 | LS3 | HSS08016 | KS2 | KS14 | HKY30R/40R/50R
KisrjL | 33 |CS42|BCP301l — [CBSaN| - CK341 |LS6(LS7)| HSS08012 | KS2 | KS14 | HKY30R/40R/50R
44 |CS62 |BCP401] — |CBSBN| — | CK342 | LS2 |HSS08016 | KS2 | KS14 | HKY30R/40R/50R
K21R/A | 33 | CT32 |[BCP301) CBT3 |CBT3N|CBT3F | CK341 LS2 | HSS08012 | KS2 | KS14 | HKY30R/40R/50R
KZ23R/L | 44 | CT42 |BCP401| CBT4 |CBT4N | CBT4F |CK341/21| LS3 | HSS08016 | KS2 | KS14 | HKY30R/40R/50R
%1 K23R/L44 L K24R/L44= CK3418 AF2EtL|C}.
MK 7IEg|X| ZX|E|B &
= '@PS @ (
THE T &\ pr @css QCBT ,'le \\\g\% @ & § ﬁ
G I T T il i s e
00 | — — — |cBs3| — | CK232 | LS4 |HSS04008 | KS1 | KS11 | HKY20R/30R
HMRL | 11| - - — | CBS3| — | CK232 |LS4(LS5)| HSS06008 | KS2 | KS12 | HKY30R/40R
H12RIL | 22 | — — | cBS4 |CBS4N|CBS4F | CK341 LS6 | HSS08012 | KS2 | KS13 | HKY30R/40R
H14R/L | 33 |PS42 |BCP251| CBS4 |CBS4N|CBS4F| CK341 |LS6(LS7)| HSS08012 | KS2 | KS14 | HKY30R/40R/50R
44 | PSB2 [BCP301| CBS6 |CBS6N|CBS6F| CK342 | LS2 | HSS08016 | KS2 | KS14 | HKY30R/40R/50R
00 | — = — |cBs3D| — | CK232 | LS4 | HSS04008 | KS1 | KS11 | HKY20R/30R
11| — - — |CBS3D| — | CK232 |LS4(LS5)| HSS06008 | KS2 | KS12 | HKY30R/40R
H13RIL | 22 | — - — |CBS4D| — | CK341 | LS6 | HSS08012 | KS2 | KS13 | HKY30R/40R
33 |PS42 BCP251| — |CBS4D| — | CK341 |LS6(LS7)| HSS08012 | KS2 | KS14 | HKY30R/40R/50R
44 |PS62 |BCP301 — |CBS6D| — | CK342 | LS2 |HSS08016 | KS2 | KS14 | HKY30R/40R/50R
00 | — — | CBT2 |CBT2N| — | CK231 | LS4 | HSS04008 | KS1 | KS11 | HKY20R/30R
H21RIL | 44 | _ — | CBT2 |CBT2N| — | CK231 |LS4(LS5) HSS06008 | KS2 | KS12 | HKY30R/40R
:;igt 22 | — — | CBT3 |CBT3N | CBT3F| CK341 | LS6 | HSS08012 | KS2 | KS13 | HKY30R/40R
HoariL | 33 | - — | CBT3 |CBT3N|CBT3F | CK341 |LS6(LS7)| HSS08012 | KS2 | KS14 | HKY30R/40R/50R
44 | — — | CBT4 |CBT4N | CBT4F CK3#1/2:1 LS2 | HSS08016 | KS2 | KS14 | HKY30R/40R/50R
%1 H24R/LS CK3412 AFREHLCH.
LLIIE 2| X]|
= <
IHE 72 @ & @g\\\ @ @ f
At JES AIE ANE THEE | SUE it | S LAF |20 XYL 0FIA ZFLAH 28 MEEE | #x
PSYNRI/L
PSKNR/L | 20CA15 | LLSSN53 | LLP15 LLCL25 | LLCS508S | LLR2 KS2 | HSC08030 | HKY30R
PSSNRI/L
SS7IE 2| %|
TRE 7 @ & /&\
= JYES Sz LA} ACiY F=HLIAL P14 ZHLIAL =5 MEZE 2l %]
SSYP 13RIL S4 HSS05006 KS1 HSC06014 HKY25F
SSKP 17RIL S5 HSS06006 KS3 HSC06014 HKY30F
SSSP 15R/L sS4 HSS05006 KS1 HSC06014 HKY25F
SSTP 22R/L S5 HSS06006 KS2 HSC08020 HKY30F
STeR 13RI/L S3 HSS04006 KS1 HSC06014 HKY25F
TSP 17R/L S4 HSS05006 KS1 HSC06014 HKY25F




LEHEH

AF5000& YU2lzglo|A

S
S
9
THE 7 7 & oS HuE
saz EFED e 2l x| x|
AF5000%] CWAF5R/L LS10T KS1S TKY25T HKY15R | NF10000(©L096)
BAP300¥ L& zalo|A
£ 5
FHE 72 S T
AT LAl 2z
BAP300& TS25 TKYOSF APX3000(©L136)
BAP400& alzalo|Aa
£ |
FHE 72 S oS BHE
AT LA} x|
BAP400-040A04R TS43 TKY15F
BAP400-050A05R TS43 TKY15F
BAP400-063A06R TS43 TKY15F
BAP400R0307C TS43 TKY15F APX4000(©L146)
BAP400R0408D TS43 TKY15F
BAP400R0509E TS43 TKY15D
BAP400R0610E 7543 TKY15D
BF407d L& =ajo|A
— @ 4
FHE 72 ] & S S suE
saz EFEYI ME LA} 2l x|
BF407R0812K CWSF407TR2 LS15T CAS51T TKY25T
BF407R1016K CWSF407TR2 LS15T CAS51T TKY25T FMAX(©L089)
BF407R1218P CWSF407TR2 LS15T CAS51T TKY25T
BN425& L =zjlo|A
V. =
FHE 72 .‘ & S BHE =
ETH AT LA} iz
BN4253 CWS43SNN LS14T TKY25T WSX445(©L040)
BOEE LW =zlo|A
FHE 7 & § & CEREE
MEZE MEEE ST LAl | S8I LA 8 dx| | NEBE 8 aA
BOER0202B Ls21 — CS501290T |  TKY25T HKY50R
BOE-050A02R LS20 — CS501290T |  TKY25T HKY50R
BOER2H03B - BOES101 | CS501290T | TKY25T HKYBOR | cuTi@L258)
BOE-063A03R - BOES101 | CS501290T |  TKY25T HKY8OR
BOER0304C — — CS501290T |  TKY25T -
BOER0405D - HSC16035 | CS501290T | TKY25T -

P029



P030

F 4 D
& W4
FHE 7 & / & / g HuE
ETE 2%
BSX400R05004A Ts43 TKY15F
BSX400R06305A T543 TKY15F
BSX400R08006C TS43 TKY15F WWXOO(OLI00)
BSX400R10008D T543 TKY15F
BSX400R12510E TS43 TKY15D
BSX400R16012E T543 TKY15D
BSX500d Haz=ajo|a
S | S | @
FHE 72 & & ~/ g HuE
S8 LA AETELA AE 2z
BSX5008] CSF401260T | WCS604010H STBS500N TKY20D WWX400(SL100)
BXD7000¥ Ll =zajo|A
S 7
HE 7 S / o HuE
saz LA 2]
BXD70008 TS5SL TKY25D AXD7000(©L208)
BZC4008 LB =2l0|A
, Q
THE 7 & & oS HuE
sz LA nEEE BUEZ LA 8 #x | MEEE 8 8
BZC400-032A03R CS350990T LS24 TKY10F HKY40R
BZC400-040A04R CS350990T = TKY10F = WWX400(©L100)
BZC400R0408D CS350990T — TKY10F —
E4048 L =zjo|A
= — (D
THE 7 S S & oS HuE
MEE |NEHZUM A |NEZEUN| SEE [amoEuA| ax | ax
E404% SSE41R | SPS1 | SCD43 | STST |CWS3R/| WS1 [TKY10RTKY25T| FMAX(©L089)
FBP4158 L& Zalo|A
©
<0 O &
HE 72 S~ @ & & oS HuE
AE SUmT | S LA | AISDEUAL ST UA 8 8| NEDEINSEA
FBP415R0308C
FBP415R0410D
FBP415R0514E
FBP415R0618F STSP415R |CWSP415TR|  LS10T TS32 | TKY25T | TKYOSF | WSF406(©L084)
FBP415R0822K
FBP415R1028K
FBP415R1234P




FN548% 22l =zjo|A
FHE 72 % & E=3px | |2y syz e suE
Sz SYZ LA} x|
= 120QSPK x 80| 6.35(1x 4
FN548% cws4 LS14 HKY40T | S| Hiah | (2EHEA HE) -
LSE445% L& =Z2o|A
/ 7 Q 7
.m /f\% & (N
THIE 72 N | ” & //QV oS HuE
ANE [ ANETFUAL | SEE | S8 LA |S8I UA 8 83| NETEUASHK
LSE4453 STBE445NF| CS300890T [CWSE445TR|  LS15T | TKY25T | TKYOSF | WSX445(©L040)
MG300,400& LA =Zzlo|A
A3 S
FHE 7 \\g'ﬂ / / o
EFEqT Bz
MG300¥ CS350990T TKY10F -
MG400& CS451190T TKY20F WWX400(©L100)
MG345,4458 L =zlo|A
f &
50
(3 &
FHE 7 \\g / EREE
S LIAL 2|
MG345& CS350990T TKY10F
MG4458 CS451190T TKY20F WSX445(0L040)
MGP445% L =Zalo|A
IS 7
ZRE 7 & J EREES
Sz LA 2%
MGP4453 CS401160T TKY15D WSX445(©L040)
MSD445% 2 =ajo|A
FHE 7 e S S S
ECES S LA ax
MSD445% CWMSE445R2 LS15T TKY25T WSX445(©L040)
MSE4458 L& =gzjo|A
” ,{\\o\@
FHE 72 S & S HyE
Saz S LA} #lx
MSE445%] CWMSE445R2 LS15T TKY25T WSX445(©L040)
NR10000& UZ!z=2l0|A
2] (© (@© 3
FHE 7 N & & &@\ g HuE
Suz | S¥D LA | ZFSHD | I8 ASR | ASHLMA 2%
NR10000% CWAF10R2| LS10T | CWAF1ON | LS15T | CSAF10 | TKY25T —

P031



I
O

P032

AZE HIXH=2 =
— 1 —] O Ll
NSE300& Ualzzfo|A
> P4 Y,
sy IR RIDEADE e
A S A
FHE 72 W' @, & & / e BYE
MNEE] SYUZT | ST LAl [MEE DA SET YA U NIHTE 2 81| MEEE
NSE300-050A04R B
NSE300-063A05R CWTSE300TR| LS19T TKY15T
NSE300R0408D HSC16035
NSE300R0306C
NSE300R0510E SPTSESOOR | oyynses0oR | Ls 10T TS32 | rkyost | TKYOSF WWX400(@L100)
NSE300R0612F _
NSE300R504S32
NSE300R635532 CWTSE300TR|  LS19T TKY15T
HAEEZ3 (Nem) 1 LS10T=8.5, LS19T=5.0, TS32=1.0
NSE400& Lalz=ajo|A
N (S A
THE 72 “@' @! & & / oS BHYE
EL SYUIT | ST LA [MEE DHLASAT YA 3| §EETELN & 8K
NSE400R0306C —
NSE400R0407D HSC16035
NSE400R0508E
NSE400RO0610F SPTSE400R [CWSE300TR| LS10TS | TS32 | TKY25T | TKYOSF B WWX400(©L100)
NSE400R503S32
NSE400R634S32
P425« P5253 Wal=Zzlo|A
= (D
By ) @ ) D)
FHE 72 S J | & & oS BuE
MEE| |MEHIEUM| AIE  [AEDEUA| SBZ  [AxDnFUA  ax 2l x|
P4258 SSP41R | SPS1 |SCP431R/L| STS1 |CWS1R/L| WS1 |TKY10R|TKY25T
. WSX445(©L040)
P5253 SSP51R | SPS1 |SCP521R/L| STS1 |CWS1R/AL| WS1 |TKY10R| TKY25T
QBF407& Ya=zlo|A
i & () T R
FHE 74 & ot @ & g BuE
=TS [ ] & & $ S HUE
Sz ST LAl | MELMAL [J0IEE0IE]  EE Bl x|
QBF407R0304Q CWSF407TR1|  LS15T CAS51T QPAR1 | TFC04010 | THY29R
QBF407R0406Q CWSF407TR1|  LS15T CAS51T QPAR1 | TFC04010 | THY20R -
QBF407R0508Q CWSF407TR2| LS15T CAS51T QPAR1 | TFC04010 | THY29R
QBP4153 HalZzlo|A
Q
<> &s -7 S
FHE 72 T & & oS BuE
AE AIETHLIA} EEES ST LA Bl x|
QBP4158 STSP415R TS32 QWGR1 LS10T TKY25T -
QF10000& Lal=Zzlo|A
z D o &
Y @ = @ Vg S X
THE 74 @ & AR AR oS HYE
ST (ST LA JSE0E| EE |ZHSYD | EH ASR|AEHLAN B
QF10000% CWAF10R3| LS15T | QPCRT | TFC04010| CWAF1ON| LS10T | CSAF10 | Jieyaor -




QSE415& L2l =zlo|Aa

— © 4 R
. (& & p | P
THE 74 - \\\\{\\ \\\Q\Q\‘\\ \g\% S SHE
S#z | 2HZ UAf | MELAN |Jl0ISBd0lE|  EE e
QSE4153 CWSF407TR3|  LS15T CAS51T | QPAR1 | TFCo4o10 | IKY20R -
TKY25T
SE300& LUzl=glo|A
PHE 72 | 8 | [e] (&) ’ & oS HuE
MEH @olfgs) S=T S==s (choiigs |SHI LM BX
SE3003 SPSE300R | SPSEW300R | CWNSE300TR| CWSE300SN| CWSEW300SN | LS10T | TKY25T| WWX400(®L100)

SE400& U2lz=alo|A

THE A ’I ' &g\@ s sHE

T B S LIAL x|

[H

MEZE (@olmels) =8

SE400E SPSE400R | SPSEW400R | CWSE400TN |[CWSE400SN (S?E4(J50-|£0304C:LS10T) TKY25T | WWX400(©L100)

FHE 72 B [e] & g HuE
MEE] AIE S=T SAms | SUE LIA 2l x|

SE415R0304C
SE415R0306C HSC12035
SE415R0405D
SE415R0407D |SPSEA1SR STSE415R |CWSE44STR CWSEA4SSN| LS15T | TKY25T | HSC16035 -
SE415R0506E
SE415R0611F -

®EZE2F (Nem) 1 LS15T=8.5

SE515& Yalz=alo|A

wm | Q) &) £

MZE] NE SuoT | Swos | Sdm ga| X

35515jo833 HSC16035 T

SE515R0506E SPSE515R | STSE515R |CWSE545TR |CWSES45SN|  LS15T TKY25T - =
; _

SE515R0611F

% &AEHEZ23 (N+m) : LS15T=8.0

SE4453 Yzl=glo|A

THE 73 B % ” \g‘/\&\\ % R
2 & -
MNEE NE SmT | 2MmZs | SUZ LA @k MEZE
SE445R/L03 HSC12035
SE445R/L04 D HSC16035
SE445RIL0506E SPSE445RIL | STSE445R/L | CWSE445TRIL | CWSE4455N| LS15T | TKY25T WSX445(©L040)
SE445R/L1214P -

NAHEZ2F (Nem) : LS15T=8.5

P033



IR

P034

| — == 4
5
I
x XX E XX E O 13
| TAaNlo -
SE545% 2 =glo|A
FAE 72 ‘ \' & e
MEE] ANE | sumr | samms |[sazua| ax | Mess
SE545R0405D HSC16035
SE545R0506E SPSE545R | STSE545R | CWSES45TR|CWSES45SN|  LS15T | TKY25T | WSX445(©L040)
SE545R1012K
*MAEZ23 (Nem) : LS15T=8.5
SG20d Y =gzlojA
- S & o s
THE 74 \g“ S SE
MEE| EFES EFEIETED, R
SG20R0304C —
SG20R0405D SPSG20R | CWSG20TR |CWSG20SN|  LS15T | TKY25T | o100 -
SG20R0506E ~
SG20R0608F
% EEE=3 (N+m) : LS15T=8.0
SHP400& Lal=gzlo|A
Py © ) v
g 0 A
FHE 72 |’ & & / S e HuE
samT ST LAl | MEE DELAL | SBT AL 8 HAl| MEETELA 8 A
SHP400%! CWSE300TRIL |  LS10T 7S32 TKY25T TKYOSF | WWX400(©L100)
VIP400& LA =gjo|A
o
FHE 7 & e HuE
EPERI ]
VIP400%! CS501160T TKY20F WWX400(©L100)
VIP4458 L3 =gjo|A
&
THE 7 & oS HuE
EPEQ %]
VIP445%] CS501160T TKY20F WSX445(©L040)
V10000 LB =al0|A
FHE A% § § & EREE
V10000-063A04R HKY25R
. VCT13R | HBH06016 | HBHO4008 |CS350790T)  KS1 | Lo o0 | TKY10R | FMAX(©L089)
V10000R0508E

*EEEZ23 (N-m) 1 CS350790T=3.5, HBH06016=8.0, HBH04008=4.0



a
dicd

BAEE dl=d
LN
FHE 72 VA S suE
Bl
BAE500R161S16 TKY15F
BAE500R201S20 TKY15F
BAE500R252S25 TKY15F APX4000(SL146)
BAE500R323S32 TKY15F
BAE500R403S32 TKY15F
BAE500R504S32 TKY15F
BAE600E TKY25F -
BAP300& (2l ) di=
THE 72 e sz
2ll x|
BAP300E& =gl TKYO08F -
BAP400d A=Y
THE 72 oS HHE
B
BAP400R252S25 TKY15F
BAP400R323S32 TKY15F
BAP400R404S32 TKY15F APX4000(©L146)
BAP400R505S32 TKY15F
BAP400R636S32 TKY15F
BAP400S (Esd)
(S
FHE 72 YA S HYE
Bl
BAP400E (ZHZE) TKY15F APX4000(©L146)
BAP3500& di=dl
FRE A% VA S BaE
2l x|
BAP3500R161SA16 TKYOSF
BAP3500R161SN16: TKYOSF
BAP3500R202SA20" TKYO8F
BAP3500R202SN20" TKYOSF
BAP3500R253SA2 TKYOSF
APX3000(©L136
BAP3500R253SN25 TKYO8F (©L136)
BAP3500R324SA32" TKYO8F
BAP3500R324SN32: TKYOSF
BAP3500R405SA32 TKYO8F
BAP3500R405SN32: TKYOSF

P035



P036

I
O

Nl H I C o 5T
= T RAaFoa-
BOEd dl=d
f
= o &% o M=
THE 74 \Q\\\&'f S SdE
suz LA x|
BOEH CS501290T TKY25T OCTACUT(®L258)
BREE dl=W
1 7T o
THE 74 & \‘f & s sd=E
EEE ETE: suzs = azg x|
BREZ TS5S AMS5 BRS105 ASS3 TKY25R BRP(OL274)
BSPRE d=H
}‘ 5
FHE 72 & / 9 oig suE
ETE x|
BSPRE CS451190T TKY20F =
BSX300& =2
= 2
THE 72 & 4 oS HuE
ECE 2%
BSX3008] TS32 TKYO8F WWX400(DL103)
BSX400& =2
& &5
FHE 7 4 / e
ETE x|
BSX400] TS43 TKY15F WWX400(DL103)
BSX500& =2
£ < 7/
\% "Ss/'/y/ @ a
THE 7 $ & ~/ V4 oS HuE
ETE NETHUA e ez
BSX5008] CSF401260T | WCS604010H STBSB500N TKY20D WWX400(DL103)

BXD7000& =Y

b

THE 74 S sSdl=
ST LIA} EIA
BXD7000R251SA25SA/B TS5S TKY25D
BXD7000R321SA32SA/B TS5S TKY25D AXD7000(@L208)
BXD7000R402SA42SA/B TS5SL TKY25D
BZC400& =Y
THE 72 /® S SH=
2|
BZC400& CS350990T TKY10F APX4000(@L146)




Cvd =g
THE 72 & s’ & e sdE
Sam LA} Sy Sng 25 Amal 2l x|
CV10R253S32 TS4 AMS3 BRS103 ASS2 TKY15R
CV12R323S32 TS4 AMS3 BRS103 ASS2 TKY15R BRP(®L274)
CV16R403S32 TS5 AMS5 BRS105 ASS3 TKY25R
CV20& =Y
©
. & ) S
THE 74 @ —| S SdE
Sam LA} Syn 2l x|
CV20R403S32 LS14T CWCV20 TKY25T —
DCSD, DCSN& di=2!
)
THE 74 & S s
ANETELIAL Sam LA} ANETELIAL Sam LA 2l x| 2l x|
DCSDR2040SS - HS4S - DKS4 HKY30R |HKY25T
DCSDR2050SS — HS4S — DKS4 HKY30R |HKY25T!
DCSDR2063SN - TS5S (HS5S) - DKS5 HKY40R|TKY25T
DCSDR2063LN — TS5S (HS5S) — DKS5 HKY40R|TKY25T
DCSDR2080SN - TS5S (HS5S) — DKS5 HKY40R|TKY25T
DCSDR2100SN - TS5S (HS5S) - DKS5 HKY40R|TKY25T
DCSNR2063SN Jss7 TS5L (HS5L) Jss7 DKS5 HKY40R|TKY25T
DCSNR2063LN JSS7 TS5L (HS5L) JSS7 DKS5 HKY40R|TKY25T|  SPX(©L283)
DCSDR2040SB - HS4S - DKS4 HKY30R |HKY25T
DCSDR2050SB — HS4S — DKS4 HKY30R |HKY25T
DCSDR2063SB — TS5S (HS5S) — DKS5 HKY40R|TKY25T
DCSDR2063LN - TS5S (HS5S) - DKS5 HKY40R|TKY25T
DCSNR2063SB JSs7 TS5L (HS5L) JSs7 DKS5 HKY40R|TKY25T
DCSDR2080SA — TS5S (HS5S) - DKS5 HKY40R|TKY25T
DCSNR2080SA JSs7 TS5L (HS5L) JSs7 DKS5 HKY40R|TKY25T
ECvMpPYI=L
= 4 @‘% f o =jai=
THE 74 & S SHE
ST LA} RPN
ECMP252S25 TS4 TKY15R
ECMP322S32 TS5 TKY25R —
ECMP402S42 TS5 TKY25R
FF3000& di=g
’@
THE 74 SS7 é/%§ oS HYE
AE 2l x|
FF3000& FFSS HKY25L -

P037



[ — =~
e
I
X I K :II:[: L= R
= T RARFloa-
FSTEY dl=g
THE 7 ¥ |¢4 & e HuE
MEE| sz SHZ LA | MEE TELAL %]
FSTES TS441R CWFSTE LS10T CPM03008 |  TKY25T | WWX400(®L103)
PMRYE E&x| &
(&) [ 7
ZHE 72 N/ & ERET
AE | NEsmzUA | Essizdan | Bsdx AEs x| MEse
PMR608004A27R | STPMR6N | WCS604010H | CSF401260T | TKY20D | HKY40R | HSC12035 ~
PMR608004DR STPMR6N | WCS604010H | CSF401260T | TKY20D | HKY40R |HSC16040
% HEE23 (N-m) : TPS35=3.5, WCS604010H=7.0
MG200,300& =Y
p
) 4
FHE 72 & // S HYE
EEEq x|
MG200%] CS300890T TKY08F -
MG300%] CS350990T TKY10F WWX400(©L103)
MG245,3458 A=Y
p
) 4
THE 72 & // e HuE
EEER %]
MG245%] CS300890T TKY08F
- WSX445(OL044
MG3458 CS350990T TKY10F (©L044)
MSE445& qi=d
FRE 7 le & S sHE
syz EEE 2|
MSE4458 CWMSE445R1 LS15T TKY25T WSX445(©L044)
= NSE300& L =alo|A
= = pay
Y | »
FHE 7 4 ‘I S HHE
MEE| EEE
NSE300R504S32
NSE300RG35935 SPTSE300R|CWTSE300TR|  LS19T TS32 | TKY15T | TKYOSF | WWX400(©L103)
NSE4008 LUZ=2{0|A
= pay © £
) S | (el | & | o
FHE 7 % & S VA TERET
MEE| SUZT | BUZ LA [MES THUAL 38T 4 8 8 [HEETEA 8 BX
NSE400R503S32
NSE400RG34935 SPTSE400R| CWSE300TR | LS10TS TS32 | TKY25T | TKYOSF | WWX400(©L103)

P038



SE300& dl=d

VO b
FRE 7 (%Y ‘I \' & e suE
MEE] EFEN sazs Sz LA 2l
SE3008 SPSE300R | CWNSE300TR| CWSE300SN | LS10T TKY25T | WWX400(SL103)
SHP400& A=
N | e S £
HE 72 Yy ’I & & f/Q S HYE
MEE] SUZT | Sum AL MEE TE0N | SHE UA 8 X | HEHIEUA 8 81
SHP400E SPSHP400R | CWSE300TR| LS10T | TS32 | TKY25T | TKYOSF | WWX400(©L103)
SREE di=d
= ZEY 0
FHE 7 & (= / oS HYE
EFEQIN EEE: o8g 2|
SRER100SS16 TS253 - - TKYO8F
SRER120SS16 TS3 - - TKYO8F
SRER140SS16 TS3 - - TKYO8F
SRER160SS16 S35 — — TKY10F
SRER180SS20 S35 — — TKY10F
SRER200S520 SRS5 SRKIR CR4 TKY20F -
SRER200SL20 SRS5 SRK1R CR4 TKY20F
SRER250SS25 SRS5 SRK1R CR4 TKY20F
SRER250SL25 SRS5 SRK1R CR4 TKY20F
SRER300SS32 SRS5 SRK1R CR4 TKY20F
SRER300SL32 SRS5 SRK1R CR4 TKY20F

STLGH di=d

THE 72 oS suE
ST LA Bllx|
STLGR22S32 CS300890T TKYOSF
STLGR38S32 CS350990T TKY10F KSMG(OL324)
VIPERY di=d!
L/
FHE 32 Va s sas
2l x|
VIPERY TKY15D SPX(®L283)
ZRE =
TS @ @ cs
THE 7 & & e HuE
Sz LA 2|
ZR202C/T TS25 TKYOSF
ZR252C/T CS300890T TKYOSF
ZR322C/T CS300990T TKY10F -
ZR402C/T CS451190T TKY20F
ZR502C/T CS451190T TKY20F

P039



P040

S Va
THE 3 4 S saE
Sz LAl x|
FBE2200SM CS300590T TKY08R
FBE2250SM CS350790T TKY10R
FBE2300SM CS400990T TKY15R
FBE2200SF CS300590T TKY08R SRF(©L300)
FBE2250SF CS350790T TKY10R
FBE2300SF CS400990T TKY15R
TBE1&, TBE2& dl=dl
e I
& Va :
FHE 32 & S , S saE
sz LA %]
Rt e Rt oFy
TBE1100SS TS3 TKYOSF - - -
TBE1100SM T3 - TKY08F _ _ _ —
TBE1100S TS3 - TKYOSF - - -
TBE1150S CS300790TS - - TKY10R - -
TBE1200S CS400990T - - TKY15R _ _
TBE1250S CS400990T - - TKY15R _ _
TBE1300S CS501290T - - TKY25R - -
TBE2150S TS254 - TKYOSF — _ -
TBE2150SM TS254 - - - - -
TBE2160S TS254 - - - - -
TBE2160SM TS254 - - - - -
TBE2200S CS350790T - - TKY10R _ _
TBE2200SM CS350790T - - TKY10R — _
TBE2250S CS400990T - - TKY15R _ _
TBE2250SM CS400990T - - TKY15R - -
TBE2300S CS501290T - - TKY25R - -
TBE2300SM CS501290T - - TKY25R - -
TBE1150SU CS300790TS - - TKY10R - -
TBE1200SU CS400990T - - TKY15R - - SRM2(L.308)
TBE1250SU CS400990T - - TKY15R - -
TBE1300SU CS501290T - - TKY25R — —
TBE2150SU TS254 - TKYOSF — _ _
TBE2160SU TS254 - TKYOSF — — —
TBE2200SU CS350790T - - TKY10R - -
TBE2250SU CS400990T - - TKY15R — —
TBE2300SU CS501290T - _ TKY25R _ _
TBE1200SL CS400990T | TS3 - TKY15R | TKYOSF -
TBE1250SL CS400990T | TS3 - TKY15R | TKYOSF -
TBE1300SL CS501290T | TS4 - TKY25R - TKY15R
TBE2200SL CS350790T | CS350790T - TKY10R _ TKY10R
TBE2250SL CS400990T | CS400990T - TKY15R — TKY15R
TBE2300SL CS501290T | CS400990T - TKY25R - TKY15R
TBE1400SL HFF06015 | HS5 - HKY50R - HKY30R




0|

TRM2E =Y

THE 74 e suE
ST LA 2l x|
otme, Hizte oFe ol HZt QlF
TRM2200SM CS300790TS - TKY10R -
TRM2250SM CS400990T - TKY15R -
TRM2300SM CS501290T — TKY25R —
TRM2200SL CS300790TS TS3 TKY10R TKYO08F
TRM2250SL CS400990T TS3 TKY15R TKYO08F SRM2(©L308)
TRM2300SL CS501290T TS4 TKY25R TKY15R
TRM2200SF CS300790TS TS3 TKY10R TKYO08F
TRM2250SF CS400990T TS3 TKY15R TKYO08F
TRM2300SF CS501290T TS4 TKY25R TKY15R
TRM4Y dl=d
& VAR
THE 7% 4 s saz
S LA Bl

TRM4400SL CS451190T TKY20R

TRM4500SL CS501290T TKY25T SRM2-40/50
TRM4400SF CS451190T TKY20R (©L316)
TRM4500SF CS501290T TKY25T

{4

P041




P042

— 2l
—
AL|l=E(LHIATASS) A= (ZHX|HTASS)
FHE 7 S e suE FHE 7 S e suE
sz UA x| sz LA x|
TASS1600S32 TS202 TKY06F TASS1600C20 TS202 TKYO6F
TASS1700S32 TS202 TKYO6F TASS1650C20 TS202 TKYO6F
TASS1800S32 TS202 TKY0BF TASS1700C20 TS202 TKYO6F
TASS1900S32 TS202 TKY0BF TASS1750C20 TS202 TKY0BF
TASS2000S32 TS25 TKY08F TASS1800C20 7S202 TKYO6F
TASS2100S32 TS25 TKY08F TASS1850C20 T$202 TKY0BF
TASS2200S32 TS25 TKY08F TASS1900C20 7S202 TKYO6F
TASS2300S32 TS25 TKYO08F TASS1950C20 TS202 TKYO6F
TASS2400832 TS25 TKY08F TASS2000C20 7825 TKYO08F
TASS2500832 TS32 TKY08F TASS2100C25 7825 TKY08F
TASS2600S32 TS32 TKY08F (Q",’\'l‘%o) TASS2200C25 TS25 TKYO8F
TASS2700S32 TS32 TKY08F TASS2300C25 TS25 TKY08F
TASS2800S32 TS32 TKY08F TASS2400C25 TS25 TKYO8F
TASS2900S32 TS32 TKY08F TASS2500C25 7832 TKY08F
TASS3000S32 TS43 TKY15F TASS2600C25 7832 TKY08F
TASS3100S32 TS43 TKY15F TASS2700C25 TS32 TKY08F
TASS3200832 TS43 TKY15F TASS2800C25 TS32 TKYO8F
TASS3300S40 TS43 TKY15F TASS2900C25 7832 TKY08F
TASS3400S40 TS43 TKY15F TASS3000C25 TS43 TKY15F
TASS3500540 TS43 TKY15F TASS3100C32 Ts43 TKY15F (owgo)
TASS3600S40 TS43 TKY15F TASS3200C32 TS43 TKY15F
TASS3300C32 TS43 TKY15F
TASS3400C32 TS43 TKY15F
TASS3500C32 TS43 TKY15F
TASS3600C32 TS43 TKY15F
TASS3700C32 TS43 TKY15F
TASS3800C32 TS43 TKY15F
TASS3900C32 TS43 TKY15F
TASS4000C32 TS5 TKY25F
TASS4100C32 TS5 TKY25F
TASS4200C40 TS5 TKY25F
TASS4300C40 TS5 TKY25F
TASS4400C40 TS5 TKY25F
TASS4500C40 TS5 TKY25F
TASS4600C40 TS5 TKY25F
TASS4700C40 TS5 TKY25F
TASS4800C40 TS5 TKY25F
TASS4900C40 TS5 TKY25F
TASS5000C40 TS32 TKYO8F




50| 21| C|0{(TAGS) 50| A Z|C|0{ (TAGM)

THE 7 §§ oS HuE HE 7 §§ oS HuE
Sm LI 2l x| Sz LI} 2l x|

TAGS1600F25 TS2 TKYO6F TAGM1600F25 TS2 TKYO6F
TAGS1700F25 TS2 TKYO06F TAGM1700F25 TS2 TKYO6F
TAGS1800F25 TS2 TKYO06F TAGM1800F25 TS2 TKYO6F
TAGS1900F25 TS2 TKYO6F TAGM1900F25 TS2 TKYO06F
TAGS2000F25 TS25 TKYO8F TAGM2000F25 TS25 TKYO8F
TAGS2100F25 TS25 TKYO8F TAGM2100F25 TS25 TKYO8F
TAGS2200F25 TS25 TKYO8F TAGM2200F25 TS25 TKYO8F
TAGS2300F25 TS25 TKYO8F TAGM2300F25 TS25 TKYO8F
TAGS2400F25 TS25 TKYO8F TAGM2400F25 TS25 TKYO08F
TAGS2500F 32 TS3 TKYO8F TAGM2500F32 TS3 TKYO8F
TAGS2600F32 TS3 TKYO8F TAGM2600F32 TS3 TKYO8F
TAGS2700F32 TS3 TKYO8F TAGM2700F32 TS3 TKYO8F
TAGS2800F32 TS3 TKYO8F TAGM2800F32 TS3 TKYO8F
TAGS2900F 32 TS3 TKYO8F TAGM2900F 32 TS3 TKYO8F
TAGS3000F40 TS4 TKY15F TAGM3000F40 TS4 TKY15F
TAGS3100F40 TS4 TKY15F TAGM3100F40 TS4 TKY15F
TAGS3200F40 TS4 TKY15F TAGM3200F40 TS4 TKY15F
TAGS3300F40 TS4 TKY15F TAGM3300F40 TS4 TKY15F
TAGS3400F40 TS4 TKY15F TAGM3400F40 TS4 TKY15F
TAGS3500F40 TS4 TKY15F TAGM3500F40 TS4 TKY15F
TAGS3600F40 TS4 TKY15F TAGM3600F40 TS4 TKY15F
TAGS3700F40 TS4 TKY15F MVX TAGM3700F40 TS4 TKY15F MVX
TAGS3800F40 TS4 TKY15F (©N160) TAGM3800F40 TS4 TKY15F (©N160)
TAGS3900F40 TS4 TKY15F TAGM3900F40 TS4 TKY15F
TAGS4000F40 TS5 TKY25F TAGM4000F40 TS5 TKY25F
TAGS4100F40 TS5 TKY25F TAGM4100F40 TS5 TKY25F
TAGS4200F40 TS5 TKY25F TAGMA4200F40 TS5 TKY25F
TAGS4300F40 TS5 TKY25F TAGMA4300F40 TS5 TKY25F
TAGS4400F40 TS5 TKY25F TAGM4400F40 TS5 TKY25F
TAGS4500F40 TS5 TKY25F TAGM4500F40 TS5 TKY25F
TAGS4600F40 TS5 TKY25F TAGM4600F40 TS5 TKY25F
TAGS4700F40 TS5 TKY25F TAGM4700F40 TS5 TKY25F
TAGS4800F40 TS5 TKY25F TAGM4800F40 TS5 TKY25F
TAGS4900F40 TS5 TKY25F TAGMA4900F40 TS5 TKY25F
TAGS5000F40 TS3 TKYO8F TAGM5000F40 TS3 TKYO8F
TAGS5100F40 TS3 TKYO8F TAGM5100F40 TS3 TKYO8F
TAGS5200F40 TS3 TKYO8F TAGM5200F40 TS3 TKYO8F g
TAGS5300F40 TS3 TKYO8F TAGM5300F40 TS3 TKYO08F
TAGS5400F40 TS3 TKYO8F TAGM5400F40 TS3 TKYO8F
TAGS5500F40 TS4 TKY15F TAGM5500F40 TS4 TKY15F
TAGS5600F40 TS4 TKY15F TAGM5600F40 TS4 TKY15F
TAGS5700F40 TS4 TKY15F TAGM5700F40 TS4 TKY15F
TAGS5800F40 TS4 TKY15F TAGM5800F40 TS4 TKY15F
TAGS5900F40 TS4 TKY15F TAGM5900F40 TS4 TKY15F

P043



[ ===
T=

THEF FEHSE

TAE 2 (TABE) TAFECQIE EE2I(NPXH)
THE 7 @\\\‘% @ / e suE THE 7 §§ g HuE
g3z Uy Baa | A Sz LAl 2%

TAB1700S32 | TS3 | PT1/4 | TKY08D NPXM2000S25 TS3 TKY08F
TAB1800S32 | TS3 | PT1/4 | TKY08D NPXM2100S25 TS3 TKYOSF
TAB1900S32 | TS3 | PT1/4 | TKY08D NPXM2200S25 T3 TKY08F
TAB2000S32 | TS32 | PT1/4 | TKY08D NPXM2300S25 TS35 TKY10F
TAB2100S32 | TS32 | PT1/4 | TKY08D NPXM2400S32 TS35 TKY10F
TAB2200S32 | TS32 | PT1/4 | TKY08D NPXM2500S32 TS35 TKY10F (gﬁﬁ;)
TAB2300S32 | TS32 | PT1/4 | TKY08D NPXM2600S32 TS35 TKY10F
TAB2400S32 | TS32 | PT1/4 | TKY08D NPXM2700S32 Ts4 TKY15F
TAB2500S32 | TS32 | PT1/4 | TKY08D NPXM2800S32 TS4 TKY15F
TAB2600S32 | TS4 | PT1/4 | TKY15D NPXM2900S32 TS4 TKY15F
TAB2700S32 | TS4 | PT1/4 | TKY15D NPXM3000S32 TS4 TKY15F

TAB2800S32 TS4 PT1/4 | TKY15D
TAB2900S32 TS4 PT1/4 | TKY15D
TAB3000S32 TS4 PT1/4 | TKY15D
TAB3100S32 TS4 PT1/4 | TKY15D
TAB3200S32 TS4 PT1/4 | TKY15D
TAB3300S40 TS5 PT1/4 | TKY25D
TAB3400S40 TS5 PT1/4 | TKY25D
TAB3500S40 TS5 PT1/4 | TKY25D
TAB3600S40 TS5 PT1/4 | TKY25D
TAB3700S40 TS5 PT1/4 | TKY25D
TAB3800S40 TS5 PT1/4 | TKY25D
TAB3900S40 TS5 PT1/4 | TKY25D
TAB4000S40 TS5 PT1/4 | TKY25D
TAB4100S40 TS5 PT1/4 | TKY25D
TAB4200S40 TS5 PT1/4 | TKY25D
TAB4300S40 TS5 PT1/4 | TKY25D
TAB4400S40 TS5 PT1/4 | TKY25D
TAB4500S40 TS5 PT1/4 | TKY25D

MVX
(©N160)

P044



WSTAR 2IME =8(TAWH)

THE 7 ;5§> g?;> <?§ e HuE

YT LAt %] Baol= SRR

TAWSNH1400S16 WS254012T TKYO08W WPT4405 MK1KS

TAWMNH1400S16 WS254012T TKYO08W WPT4405 MK1KS

TAWLNH1400S16 WS254012T TKY08W WPT4405 MK1KS

TAWSNH1500520 WS254013T TKYO08W WPT4405 MK1KS

TAWMNH1500520 WS254013T TKYO08W WPT4405 MK1KS

TAWLNH1500S20 WS254013T TKY08W WPT4405 MK1KS

TAWSN1600S20 WS254014T TKYO08W WPT4405 MK1KS

TAWMN1600520 WS254014T TKYO08W WPT4405 MK1KS STAW(ON144)

TAWLN1600S20 WS254014T TKY08W WPT4405 MK1KS

TAWSN1700S20 WS254015T TKYO08W WPT4405 MK1KS

TAWMN1700S20 WS254015T TKY08W WPT4405 MK1KS

TAWLN1700S20 WS254015T TKY08W WPT4405 MK1KS

TAWSN1800S20 WS254016T TKYO08W WPT4405 MK1KS

TAWMN1800520 WS254016T TKY08W WPT4405 MK1KS

TAWLN1800520 WS254016T TKY08W WPT4405 MK1KS

{4

P045



P046

[ ===
T=

=
>

H 25

74
=

&0 53 7|5 Ho|x] 2E 58 7| - LR (r:m) - ==
H63TH-EV2525R/L-112 HO19 HSS12025 M12x1.75 25.0 6.0 47.0
H100TH-EV3232R/L-180 HO19 HSS14035 M14x2.0 35.0 6.0 53.0
H63TH-EN2525R/L-115 H020 HSS12030 M12x1.75 30.0 6.0 47.0
H100TH-EN3232R/L-130 H020 HSS14030 M14x2.0 30.0 6.0 53.0
H63TH-EV2020R/L-105-3 H021 HSS12030 M12x1.75 30.0 6.0 47.0
H63TH-B08-65 H021 HSS08010 M8x1.25 10.0 40 14.0
H63TH-B10-70 H021 HSS08012 M8x1.25 12.0 40 14.0
H63TH-B12-70 H021 HSS08012 M8x1.25 12.0 40 14.0
H63TH-B16-75 H021 HSS10016 M10x1.5 16.0 5.0 27.0
H63TH-B20-75 Ho21 HSS10016 M10x1.5 16.0 5.0 27.0
H63TH-B25-83 H021 HSS12016 M12x1.75 16.0 6.0 47.0
H63TH-B32-87 H021 HSS12016 M12x1.75 16.0 6.0 47.0
H63TH-B40-97 H021 HSS16012 M16x2.0 12.0 8.0 118.0
H100TH-B25-120 H022 HSS12016 M12x1.75 16.0 6.0 47.0
H100TH-B32-135 H022 HSS12018 M12x1.75 18.0 6.0 47.0
H100TH-B40-150 H022 HSS16020 M16x2.0 20.0 8.0 118.0
H100TH-B50-180 H022 HSS16020 M16x2.0 20.0 8.0 118.0
SL3208-90 H022 HSS06008 M6x1.0 8.0 3.0 5.9
SL3210-90 H022 HSS08008 M8x1.25 8.0 4.0 14.0
SL3212-90 H022 HSS08008 M8x1.25 8.0 40 14.0
SL3216-90 HO22 HSS08006 M8x1.25 6.0 40 14.0
SL3220-90 H022 HSS08005 M8x1.25 5.0 4.0 14.0

Z8a

&0 58 7|5 HOIX] BE 53 7|5 . Lk (r:m) - ==
H63TH-EV2525R/L-112 HO19 HGM-PT1/8 1/8-28 7.0 5.0 —
H100TH-EV3232R/L-180 HO19 HSS06006 M6x1.0 6.0 3.0 -
H63TH-EN2525R/L-115 H020 HSS06006 M6x1.0 6.0 3.0 -
H100TH-EN3232R/L-130 H020 HSS06006 M6x1.0 6.0 3.0 _
H63TH-EV2020R/L-105-3 H021 HSS06006 M6x1.0 6.0 3.0 -

CE20py

=0 58 7|5 HOIX] 2E 53 7|5 : L ik (:‘m) . o

H63TH-EV2020R/L-105-3 Ho21 HSS05012 M5x0.8 12.0 25 —






